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In which one of the following trophic structures of ecosystems, both fungi and
bacteria occur?

A) Decomposer B) Autotroph

C) Heterotroph D) Food web

E) Answer not known
FDMIFTHLP60 SIDLIYSaNET HSTa(BLD ObDMd S L@IDIILYS6fcd Pa1ilev, Lehans MMID Lmdienum
STaNGL BapsdTmar?

A) FHnSICUTTEH6IT B) SST@ML 2 ufljsmeir

C) im 2L 2 uflfwer D) D @] M6

E) uFev ABHuwalecoanso

. The phenomenon of radioactivity was first discovered by
A) Marie Curie B) Henri Becquerel
C) Frederick Soddy D) Ernest Rutherford
E) Answer not known

HBMNBHHBIT BHIDA] WWHled HadTGLIIRGBUILLCL I
A) Gom Buy,ifl B) QAN LSBT0
C) CoimaLmd Gamp D) erTaTaivr. I&Te oGUmiL

E) ugev agnueaisoamen

. Which one of the following animals lays eggs to reproduce?
A) Dolphin B) Seal
C) Platypus D) Whale
E) Answer not known
draipib alcomigGsalien 6z SaMmAUBGHGID AFui apra uiGEns?
A) Lreorfler B) SHLGOBTUI
C) angzesd D) suwimiBeob
E) usev asnuaicoamen

. What is the number of chromosomes found in human somatic cell?

A) 48 B) 56
C) 46 D) 42
E) Answer not known
wals 2uirapaic STENLGLD GEITELTCFMbSANGT TaIaBibm® TETEN 7
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B) 56

C) 46 D) 42

E) useo asmuaicoamen

5. Bt Cotton is a genetically modified crop with a foreign gene from
A) Bacillus thermolactis B) Bacillus thuringiensis
C) Bacillus thermophilus D) Bacillus tequilensis
E) Answer not known
i UBSS erdTUH b AMANBHTLG LOTUGH@ILST LIUEY WIDHOUIUCL uulf
A) GuF V6L ABTELDTEVTHIPEID B) Gudleveiv FHIebdAuaTadeio
C) Gudleveiv ASHTELDMITNEVE D) Gudlevaiv CILBHUIeIeaTdIaD

E) U0 A Huaiecoanso

6. Which one of the following is not a non-renewable energy source?
A) Coal B) Oil
C) Sunlight D) Nuclear fuel
E) Answer not known

Hdraipaiatabico aml USINIGS WIPUITS OLDME APIDTEH SBevamen?

A) Bevda B) T EOTUT
C) N TR ] D) Oigy) ANALITHEIT
E) UFev S Hualecoanso

7. What is the use of heavy water?
A) It is used in nuclear reactors as a moderator
B) It is used in nuclear reactors as fuel
C) It is used in radiation therapy for cancer
D) It is used in water softening plants
E) Answer not known

SOBHST LIST eTSTDT?

A) Sl gy 2 Mevdsalcv SONIUTAIGEI LUSTUGSSILGSDIHI
B) S35 OIgy 2 Mevdaiev emfauUTBaTTSl IUSTUGSSILGBDBHI
C) 8% UDHMICHTUISGSTAT BHTaldFdn FBFaFuled LUSTUGSHSUILUGBDHI
D) B SN ADSIAMDWTHSLD ST BIGBaND LUSTUGHSILGBDBHI

E) UBD ASHuIalcoansD

8. Reverberation of sound ensures

ACF|DEO MODEL TEST -1 IYACHAMY ACADEMY CHENNAI
ITIRUNELVELI| TENKASI - 9952521550




IYACHANMY ACADENMY

INnstitution For Competitive Exam

A) a single refraction B) a single reflection
C) multiple reflections D) multiple refractions
E) Answer not known

@alufar erdanmel 2 s AFuIBDHI
A) ghon gaiaicmsesd B) ebom winsuediing
C) uev TSueiiysaer D) U enalevdke0dHeIT

E) udev azmuwaiecoanso

9. "Athlete's foot" is a skin disease caused by
A) virus B) fungus
C) alga D) bacterium
E) Answer not known

"S1Lsor BTD SUG RB CHTD GHTUTSID

A) DITEID B) L,ebans
C) uma D) umdemunm
E) ugev azmueaishamen

10. PM Mitra Parks has been recently in the news. It is related to which of the

following?

A) Textiles B) Skill Development
C) District Mineral Funds D) Solar Energy

E) Answer not Known

fend wWsam yrsT FHUSBo asuidsaico absleTas. SH  HdTBGAGTADID GTHILGT

GIQFILL'I'IJG))LLUQI?
A) 2ayer B) SDSTCIIDUTG
C) DTQILL H@ILD B35 D) sl SpHMED

E) oL asiualcoame

1. Who among the following favoured Indus Script related to Tamil
I Asko Parpola
Il I. Mahadevan
18 R. Balakrishnan
V. Suniti Kumar Chatterjee

Select the correct code:
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A) L, B) I, i, Iv
<)L, v D) AU of the above

E) Answer not known

SssamLaisaieo WMl SWD aapdHIbser bl dIPSHIHHEMTG ASTLIYMLWLG aSIUSDSH
SpTAUTUI SHBHSOT
l SMevBsT UTBuTeT
Il 2.105TCSHeuT
{R OplT.LUTEBHERIST
V. Fald SWMT FrLied
Fiumar sHuiraLd CasIbasBHbalb:
A) L L B) I, W, Iv
C) 1, 1, IV D) GG 2 ciTen AIMBISHILD

E) uFev ABHuwalecoanso

12. Which text speaks of the festival of Thiruvathirai
A) Kalithogai B) Paripadal
C) Ahananooru D) Aingurunuru
E) Answer not known

Seangor alpr ubyl abs BT FmpIBnEI

A) B HABHTND B) uUTL 6D
C) ONBHTDIMI D) SBIGDIBHITDI
E) ugev agnueaisoamen

13. The men who blew ‘Sangu’ (Conch shell) called as

A) Kinaignar B) Kodiyar

C) Vayiriyar D) Porunar

E) Answer not known

FHIS HTOHBD FRIG 2AHBUWANT TSIMTL IEMLPHBLILIL LT

A) BnAEhIT B) Gamipum

C) o D) AUITHEATT

E) usev asnuaicoamen

14. The earliest datable Ashoka’s rock edicts Nos. 2 and 13 mention the South Indian
Kingdoms

A) Chola, Pandya, Satyaputra and Keralaputra

B) Chola, Pandya, Sathavahana and Keralaputra

C) Pandya, Satyaputra, Nagas and Keralaputra
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D) Chola, Pandya, Ceylon and Keralaputra

E) Answer not known
OpIbUBT® STaAHeT NCFISHST LTDD OLADAVIBGT G0N, 2 wHmHnb 13 asdaibsu
SmnFwmsmars GONNGSIImar.

A) GFmpy, uTampwy, FSUYSSTT WwHOHID CsremydHBmT

B) GFMDT, UTANPUWT, FTSMTHT WODOMID CHITMLSHIBIT

C) UTETRWIT, FSWYSBIT , BISTH6T WOHMID BHTeTySHBT

D) Gamp, umampu, AGeoTdr WHDHND ChTaTLSHBT

E) uséd asmuaicomen

15. Which of the following is not Matched Correctly

I Palaeolithic tool - Attirampakkam
Il Microlithic Age - Madurai

il Mangulam Incsription - Pandyas

IV. Roman Coins - Aruganmedu

Select the Correct code
A) I, II, Il are correct B) Il only incorrect
C) I, I, IV are correct D) AU of the above
E) Answer not known

HaraibalaraDmied gl FuTEGl AUTHbBHalcoanen

l. LLPBISTeS HHal - OSBIDUTSHBLD
1l SIGT BHBTEOLD - IDBHIDT

. LDTTRIGATLD SVl B - UTEOTIRUITHET
V. GITIDST [HTERILITEIGET - ANBHSICLLG

Fiwmear sHuiraLd CHIHasBbbalD
A) L, 1, ll sfuwnareanen B) Il @b saimmars:
C) 1, I, IV sfwrargs D) GDBev D 6iTaT SIMATSHILD
E) UFB ASHualcoanso

16. With Reference to Pandya Coins consider the following statements
I The coins once circulated in the ancient Pandya country comprising of
modern day Madurai, Dindigul. Theni, Sivaganga, Virudhunagar,
Ramanathapuram, Tuticorin, Tirunelvelli and Nagercoil
Il The Pandiya Coins pertaining to the period between 2 Century BC and 2nd
Century AD with rectangular shapes were found with fish emblem on one
side and bull or elephant figure on the other side.

Choose the correct answer
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A) 1 only correct B) 2 only correct
C) Both are correct D) Neither 1 or 2
E) Answer not known
UTEIIRW BTEIUBISE@ENI UDN GOOYLST Hdiamd SInjbassamend &aIaiuBISe6T
l LUDBIGT UTNRW  [BILIPeD Haial &HTe0 IDGITDT , SOTBHBD OpBUW SLIBIHENe0
BTDIURISET YIDSBSB0 B®BHISaT . Cpal, Fasmas , aAGBHHDHIT, TTNDHISYTID ,
HTHHIHSP, BHABOECM ODHMID BTHTEHTaID HTEDIILILL DT
. LITEDIIPW [HTADTUITRIGET QBUYDILD D61 FSTaripld 1IomIYmID STaerT SlevevdHl WTMST 2 JHaldpLD
STAIILLLOT .
Fiwmar alaLausd Caibhads®Bmise6r
A) 1 e shumars B) 2 @G FHwTaIH
C) STanm®GLD Fi D) 1 Sevevdl 2 saomev

E) uFev ABHuwalecoanso

17. Assertion: Kalabhras period between the years 200-575 AD (375 yrs) was called
Dark Period in the history of Tamil Nadu.
Reason: Very little historical evidence was left and we don't have many texts on
this spell.
A) Both (A) and (R) are true and (R) is the correct explanation of (A).
B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
C) (A) is true, but (R) is false.
D) (A) is false, but (R) is true.
E) Answer not known
snmml: sernioy smeob B9 200-575 (375 ObANBHET ) OpANBHAHDHSH SLUILLL HTLLGS
SIS ATOTDIND SHADIL HTOLD TSN ANDLPSHBLILILL Sl
SMIaOND: WeH SMDHS ATOTDDNIF FIDIMIGET TebAuNBHID, SHl ASTLIUTHT DIBH HTOBHABLD
SLbH afcranar
A) (A) DD (R) Sranm®GLD Fi WwHmID (R) O ETES (A) Sar Fmumar allendbasib.
B) (A) LoHMILD (R) STan®GLD g1, ObaITeD (R) TSI (A) Sar Fiumar alendbaslb Stsvev.
C) (A) &Fiil, ObITeD (R) SADTDIHI.
D) (A) SHADTDISH, OHbAITeD (R) &l
E) usev asmuaicomeo

18. Match List @ | with List @ Il and select the correct answer from the codes given
below:
A) Abduction of cows from the enemy - VETCHI
B) March past of the forces to the war theatre - VANII
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C) Siege of the fort and camping - THUMBALI'
D) Decision of the place and fighting of the war - UZHIGNAI

E) Answer not known

Gumeiph uepwe @ | 2 ar uepwe @ wHpnnbd S6 ASTGHHILLBGeten GHUIGHaNe)BHSH FHuimar

udmed CHibHaAsGHBaID:

A) aBHuILIO BB DTG HLSHH0 - aad

B) GUTT SMRIBNG UMLBEMST LDITF LITeivL - QIehd
C) GHTLIL WPDHMIMS LDDMILD APSTLD - slbau
D) GumildT SLID WHMID FaorawLulST wpipa) - 2 Paneb

E) UFBev ASH I

SNPWIST, LITEDIST, LD, SLLDUET,

TSI SHBITGT BELWH BIRUILD SOV

M YD» BTIDMIF aFuluger aiefumisaiais
A) BHLAET SBVEN6L B) FUBBEAT EBDaN6D
C) BIRBET SDENED D) FUBDH6T 2 NG

E) aloL asfualsoamen

20.In Tamilnadu keezhadi excavation are unique because

I The unearthed Keeladi artefacts have led academics to describe the site
as part of the Indus Valley Civilisation.

Il. The findings have also invited comparisons with the Indus Valley
Civilisation while acknowledging the cultural gap of 1,000 years between
the two places.

. Some of the symbols found in pot sherds of Keeladi bear a close
resemblance to Indus Valley signs.

V. Keeladi has all the characteristics of an urban civilisation, with brick
structures, luxury items and proof of internal and external trade

A) L 1, 1l only B) I, i, IV only
C) I, 1, IV only D) AU of the above
E) Answer not known

SWONDBI P _ S1pp Sispmuia) SalSHBHIIDTaS daarafis

l CHTAMPAUGHGILLL S1PIp SMONAUTGLSET, Fba Fwaael BIENsHAST @B USGBLTS
opImuiFAuTenisamer alafiss anfaigssar.

1. Sbs sanGiipiyser Fbzl Fwamal Brsisssidr @IGasbheLD Sy eiGHicTerar,
oIBs CBusdv S® SLBsapss SoLéu 1,000 amL seordsnr SoLameiaw
RuySaBTAISIDT.
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lil. SppuidT uTar PBHaNco FTAMILGLD Fev ASTMEIBET FbdHl FLoAMET DL WITAEIBABL ST
ABBEIBW @DNIMIDUIS BT BTN,
V. AFEIHED HI°LaDIDILGEHT, ObLIDUTI AUTBLSET IDDDILD 2 6T DD Aael aIfHHHHBDBTOT
FTSTMISABLST BSIIYD BISNBHBGT ANMDDIHH LUILSDTUID SIDIR ASTATBETNSHI.
A) L L, 1 we@ib B) I, L, IV @b
C) I, 1, IV weeib D) GGV D GiTET SIMATHHILD
E) udev azmuwaiecoanso

21. The Council of Ministers in a State is collectively responsible to
A) the Chief Minister B) the Governor
C) the Legislative Assembly D) More than one of the
above
E) Answer not known

RB WOTHBOSHHN 2 6iTan NMDFFIMaDH GID Fnl'LTSH AuUTDIIY aiBiugl

A) APBHOMIDF FiT B) ObaBBIT
C) F1°LIDSTDILD D) GG et  RIIMIGS
GLDLILL e

E) U0 AFHuaiecoanso

22. Consider the following statements:
In the post-73rd Amendment era, there has to be decentralization of
1) decision-making powers
2) system as a whole
3) judicial powers
4) administrative powers

Which of the above statements are correct?

A)1, 2 and 3 only B) 1,2 and 4 only
C) 2,3 and 4 only D) More than one of the
above

E) Answer not known
Hadramld Sfbamnssmand HaIafLBIS6T:

73 Al BBHSHIDGI MbHMBW BT0SHBe0, LTMITSSID QAFuIIUL Calaimpuig)
1) AWIPRANBEHBID DB BNIRIBET
2) RN-BADTHH SIaMLDLILY
3) HBEHHIMD NBBIIRIBET
4) BiaIms NBHIIBIGET

CIHBaNL SaDmIGaicd g FHLTaTg!?
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A) 1, 2 whynbd 3 WGEWD B) 1, 2 whynd 4 1wrGEw
C) 2, 3 wimpnd 4 wWrEEw D) cweo oden @dmIse
GLoDLILL e

E) udev azmuaiecoanso

23. The representation in the Rajya Sabha includes
A) members directly elected by citizens
B) members indirectly elected by citizens through their representatives
C) members nominated by the President of India
D) More than one of the above
E) Answer not known

onBusuraleo NISBSSBI0ID 2 cremL BBz

A) SPGB BHIPUTS CHIHASGHSILULL 2 pInianiser
B) SEIS6T ITBBBBET dpevld SGIPLDHHANTD LDADAPHIDTS BHIHaASBHBUILLL 2 piniarniser
C) SHIudb SPUTFED HMTTR UNHHIMISGSILLL 2 NINIaTTaHen
D) GGe 2 dTen RDIMIHS GLODLILL M6

E) uséd asmuaicomen

24.\With reference to the Consumer Disputes Redressal at the district level in India,
which one of the following statements is not correct?
A) The State Government can establish more than one District Forum in
a district if it deems fit.
B) One of the members of the District Forum shall be a woman.
C) The District Forum entertains the complaints where the value of goods
or services does not exceed rupees fifty lakhs.
D) More than one of the above
E) Answer not known
ShSumalev wTAN'L Slenalcd HSBTEUTT SHITTMISGMaT Balihd QAFuIGH ASTLIUTS, LHdrambLd
OIfbmsdaico ergl FRLTOISH G16060 7
A) LIBD SITd QB LOTAILL HH0 RHIMIGHS GLODULL LDTAI'L LDSIDBIGEET BNICICOTLD.
B) wran'L warm 2 punianiseico @ampalT AuEdr.
C) aunmrmer owvmzm Grmamaldr WwHiY @DUBI OLF BUTIIGES WHTIDD SbHEEGD
UsTISaan LTI’ et ufFelbamal.
D) GG 2 eiTen PAHIMIBS GLODLILL e

E) usev asmuaicomeo
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25. The phrase 'equality before law' used in Article 14 of the Indian Constitution has

been borrowed from the Constitution of

A) Britain B) USA
C) France D) More than one of the
above

E) Answer not known
Sbsu omFweaminiar 14 ez dfeid LUGTUGSSHIULGHTT 'FI'LSBST W Fssiand oréim

QAFTDADILT abs OMTFecoanpiniedbibal SLOT INBISBLILLL i

A) AL &r B) AR BT
C) Bona@reio D) GG DeTT  RIIMIGS
GLDLIL L el

E) U0 A Huaiecoanso

26.What was the duration in the making of the Indian Constitution?
A) 1 year 10 months and 12 B) 2 years 10 months and 5

days days
C) 2 years 11 months and 18 D) More than one of the
days above

E) Answer not known

ShIHu STAWIDIL D HNTHHIILLL BT SIeNe)] CTATaT ?
A) 1 agub 10 inswser B) 2 ovanGsar 10 wismiser
whonb 12 mrcser whHonbd 5 mreser
C) 2 opansear 11 LD BBISEIT D) GB® dTT PIIMIHS
woond 18 mreser GLoDLILL e

E) ugev agnueaidhamen

27. Which of the following statements is correct with respect to the State Finance
Commission?
. Itis required to appoint a State Finance Commission once in five years.
. It recommends the determination of taxes, duties, tolls and fees
assigned to the Panchayats and Municipalities.
lll. Article 243 deals with constitution of finance commission to review
financial position of Panchayats.
Choose the correct answer using the codes given below:
A) Il Il and IV B) I, Il and Il
C)land i D) AU of the above
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E) Answer not known
B BHé SGapaail AUTDISS aimruic Hdramd abs bms FiuTargs?
l.  ebs opanGsaps® @Bipadn IDTBD B OpadIUSm®» BUIHS CalaiGib.

Il UEhFTWHBHIBET LDDID BSITABAHHS RBHISHSLLLL ailB6r, aNH6r, HBISIFTaNRB6T
wHHnbd S1Larssaer Biamd asuln ufbsimrsSmal.

. sceomide; 243 uebstussmsaisr B3 Baoaw wpUNfomar AFUIMSHETIN BS
OpBwTd @iy uDHY FHDIBDSI.

HCp ABTGHBIULGeTon GOUIGHMaTl LUISTUGSS FRuTar uBMed CHIHABBHBD:

A) 1, Ml wigub IV B) I, Il wigub I

C) | wHmb D) GG 2 ciTen AIMBISHILD

E) ugev azmueaisoamen

28. Which of the following Amendment(s) provide(s) for reservation in jobs and
admissions?
A) 77th B) 82nd
C) 8ist D) ALl of the above
E) Answer not known
Gaimeset 1WDHMID BFIbmBaHaics SLRHIGSLPNDS Hartaibld absd BbHHLD (&iGI'I) anpEIGENSI?
A) 77z B) 82aus:
C) 8lauzn D) GG 2 ciTen AIMBISHILD
E) UFev S Hualecoanso

29. Consider the following Assertion (A) and Reason (R) and choose the correct code:
Assertion (A): The President is the executive power of the Union.
Reason (R): The executive power of the Union shall be vested in the President
and shall be exercised by him either directly or through officers subordinate
to him in accordance with the Constitution.
Code:
A) Both (A) and (R) are true and (R) is the correct explanation of (A).
B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
C) (A) is true, but (R) is false
D) (A) is false, but (R) is true.
E) Answer not known
Hdraumld snmHmI (A) whHnnbd sSmyeawnbd (R) OpBLaIDMDS BHDHBO ABTANG FHuTaT SGHUTLaL s
CaibasGHbaID:

snHOI (A): SBIMBUS RIMUWSHBST AFWOTLS ANBBITHMNDH ABTANRBHHBMIT
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STTaND:  OIFeoampiidR  AFWETLES  ANABHITDANBSESHS SPOUrL  ANABsniser
APEIDTHBT AFWLOUBGHSIUGLD .
SUUiG:
A) (A) HDIb (R) STaNGLD 2 @@ WMHmID (R) TSTUGI (A) @ar Ffumar allerdbsib.
B) (A) woHmNbd (R) STAGBID 2 ATENID, DHDITED (R) TSI (A) a1 Fumar allemssLb
Slevev.
C) (A) D GENID, OHAITeD (R) BHADTDTHI
D) (A) SHADTDISH, ObITeD (R) D @IEID.
E) uséd asmuaicomen

30.Which of the following statements related to the Central Administrative Tribunal
are correct?
. It is a statutory body
Il. Its members are drawn from administrative background only.
lll. It is not bound by the procedure prescribed in the Code of Civil
Procedure.
IV. Its jurisdiction covers the members of All-India services as well as
Central services and Central Government posts.
V. It was set up in 1985.
Choose the correct answer using the codes given below:
A) I, lil and V B) I and IV
C) L, 1V and V D) Il and Il
E) Answer not known
HBHu Biems Sitummb asmjurar Hdramd Gmsmssaieo agl Fiurargs?
l. Sl Pb FrLILTal SIaDiiy
Il Opar 2 punianiser Biaunsl drarasiules Smbal WLIGED AUDIILLL AITSEIT.
L. Falled BLPYIDF FLLSF0 SHIINILOILL BTN BALWIDGHS SHl HLGLULLaflcoanev.
V. ST ANBHMTT amby S ShBuw BFaneausm6t OHMID WHBW BFmausar WHmMID 1B
Ora usalseian 2 puniarismen 2 drarLsbaHugl.
V. @z 1985 @d omnssiuncs gi.
B ABTGHBIULGeTon GHUIGHMaT UUSTUGSS FRuTaT UBMedH CHIHABBHBAND:
A) I, Il wHopnd V B) mar whmpnb 1V
C) L, IV whpnd V D) Il wipub HI
E) usev asnuaicoamen

31. Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R). Select your answer from the codes given below.
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Income in India.
Reason (R): The process of economic growth was initiated in India.
Codes:
A) Both (A) and (R) are true and (R) is the correct explanation for (A)
B) Both (A) and (R) are true, but (R) is not the correct explanation for
(A).
C) (A) is false, but (R) is true.
D) (A) is true, but (R) is false.
E) Answer not known
HCY STING NPSMBDHET ABTHHBLILL BT, QTN  AIOUIDISHHEO (A) GSINID LHADTSIDI
STTEILD (R) eratpnbd Georlafiinn Gerengl. S6W ASTGHHUILLEGeton SDuUiGBHenecv SbHBHI 2 MBI
udmevd CHibHeHBHBALD.
Dol (A): ShHuralev B ABLOTDISHSHT MDD RH SLLEIDLL IDTDMID 2 6Tengl.
SMTAID (@bj): QAUTBNTSTT AATFFUIST AFWOPaD SHBWTaI0 ESBTLIRIGLILILL .
SDUIBDaT:
A) (A) iHmnb (R) Sran®Lb am whHoib (R) TG (A)a'iasrmr giwmar alardbastd
B) (A) wHnnbd (R) STaNGID FHSTOT, ObOTTED (A) BB (R) FRwTar alendboID ES6e0aneD.
C) (A) SADTDIH, ObDITe0 (R) 2 GOTEMLD.
D) (A) D GITENID, OHLATTED (R) BHADTITHI.

E) U0 ASH I 06

32. Given below are two statements, one labelled 63 as Assertion (A) and the other

labelled as Reason (R). Select your answer from the codes given below.
Assertion (A): Per Capita Income decreases in developing country even though
National Income increases.
Reason (R): The rate of growth of population is higher than the rate of growth
of National Income.
Codes:
A) Both (A) and (R) are true, but (R) is not the correct explanation for
(A).
B) Both (A) and (R) are true and (R) is the correct explanation for (A).
C) (A) is true, but (R) is false.
D) (A) is false, but (R) is true.
E) Answer not known

snHOI (A): QeNBLD BILIP® BHFAW QIBLOTAND ANBSHNSHSTAID SANBUT AIBLOTDIND SMHDBDHI.
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asrlj:ennb (R): IDHBHATASHTNS AN TFd alBsib CHa aBIDTaT e TFd aldsHams all AHNBHIDTS
2 GiTengl.
SDUIBDaT:
A) (A) wHxnbd (R) STaNGID FRSTOT, ObOITED (A) B (R) FRwmar alendbslD Se0aneD.
B) (A) LoHmNb (R) Syanm®GLD &l wHnIb (R) TOTUGI (A)eiiasrran Ffumear aflendasib.
C) (A) Fifl, OpaITeL (R) SADTDISH].
D) (A) HADTASHI, DHOITED (R) &l
E) useéd asmuaicomen

33. During which Five Year Plan was the rate of growth of Gross Domestic Product
the highest?
A) 9th Five Year Plan B) 10th Five Year Plan
C) 11th Five Year Plan D) 12th Five Year Plan

E) Answer not known

abs DWHSTANGDH FSULHBHT GuUIZH ADTSHH 2ABILG 2MHUSBUIGT alNTFs alB D NBHIDTS

S®HSDI?
A) 9a|g,| RHSTANG SLLID B) 10@|g)| RUHSTANG BSLL1D
C) Moz 2bsTan®G Sirib D) 12081 ebosran®G SioLib

E) ugev asniueaisamen

34.Which of the following is not a feature of MGNREGS?
. Guaranteed minimum wage employment
Il. Rights-based employment scheme
lll. Generation of wage employment in rural areas
IV.  Provision of nutritious food
Choose the correct answer using the codes given below:
A) L, Il and IV B) I, Il and IV
C) I, 1l and IV D) I, Il and Hll
E) Answer not known
araipaaramyeo MGNREGS @& oubsib @damnss am?
l. SODHBSULF CalmadbsTar gnalaw 2 mis AFuIBDIZ5
1l 2 faninder SupriuanLuicomar Galanevaumuiniyg 1L 1b
IR STmoliymEISeaieo Fnel Calmeamuilianu 2 HaITHHH0
V. FHSTDT D Q] AIPHEIGHIHE0
SHC ABTGHHUILLGelton GDUIGHMaTl LISTUGSHS FHumar uBmed BHIHABBHBALD:
A) 1, Il wHpnb IV B) I, Il wioub IV
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C) I, M wiHoub 1V D) I, Il wipnb 1

E) udev azmuaiecoanso

35. What is the age-group of higher proportion of working population required for
Demographic Dividend?
A) 15-64 years B) 18-65 years
C) 18-60 years D) 15-60 years
E) Answer not known

IDSBETASTNG FAHASTNBHSH CHMAUTI D MPHSID IDSBTASTMNSUIIT NBD ABBHBHT Mgl

araran?
A) 15-64 opan@mer B) 18-65 opan@amei
C) 18-60 opan@sar D) 15-60 opan@sar

E) uFev ABHuwalecoanso

36.Which of the following are the objectives of Beti Bachao, Beti Padhao?
.  To provide legal assistance to girls
Il. To reduce decline in Child Sex Ratio
lll. To encourage women empowerment
IV. To remove gender inequality
Choose the correct answer using the codes given below:
A) L Il and Il B) IL, Il and IV
C)LIland IV D) I, Il and IV
E) Answer not known
Hdraipaiarahrieo Ut uFFTEaT , B USTEMTAIST CHIHBEIGT aaal ?
. FANIOBahdHS FL 2 Hal anpsis Calan®GLD
. swbms utddar aidsib GODAMS GDDHDS
. Quenser gBsmmpaiiiums sab@aiss
V. urelar FidgHladdraomu Hhs CaladIGLD
B ABTGSHBIULGeTon GHUIGHMaT LUSTUGSS FHUTaT UBMeDH CHIHABBHBLD:
A) 1, Il wiHpnb I B) Il, Nl wihmpub 1V
C) L, Il whoub IV D) I, I wihmub 1V

E) ugev asnueaidhamen

37. Match the following:
List-I List-II

a. Trade 1.  Primary Sector
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b. Water Supply 2. Service Sector

c. Fisheries 3. Central Statistical
Organisation
d. GDP 4. Industrial Sector

Choose the correct answer using the codes given below:

@ () (9 (d

A2 1 4 3
B2 4 1 3
2 1 3 4
p)3 1 4 2
E) Answer not known
HarabaaraaDl AUTBHHI
upuseo-| upuweo-l
a. ATHSHHID 1. wsdaws son
BHEDTOTT 2. Gsowas HOD
B GwITasLD
C. 1barewamb 3. wssw LeiTernufuico
SlanipliLy
d. GDP 4. asmpe zmIdm

HCp ABTGHBUIULGeTon GHUIGHMaT UUSTUGSS FRUTaT UBMeDH CHIHABBHBAILD:
a b c d

A2 1 4 3
B2 4 1 3
A2 1 3 4
P)3 1 4 2

E) U0 ASH IO

38. When the Central Bank increases the Cash Reserve Ratio, it leads to

. Fall in money circulation.
. Low demand for goods and services.

lll. Rise in purchasing power of the people.

IV. Rise in bank's lending capacity.

Choose the correct answer using the codes given below:

A) 1, 1l and IV B) I and Il only

C) L, Iland Il D) I, Il and IV

E) Answer not known

IpSBu s uanr asuieiny ddssms ABsNGESID CUTH, asDeG MPaGHEDSI
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l. uvesnpsssBeo afpsd.
Il AUTGBLSET LDDMID CFaINBABSBTAT GDDHD BHaval.
1. DSBS MTRIGID Fobd D udBLD.
V. aBIBUldT SLOGT BDEST 2 wibLb.
6 ABTGHBUIULGeton GOUIGsMaT LUISTUGSHS FHuTaT UMD CHIHABBHBAYLD:
A) I, Il wHmud 1V B) | wiond Il we@bd
C) L, Il wihoub 1l D) I, Il wiHpnb IV
E) useo asmuaicoaen

39.Gift edged market comprises

A) Treasury Bills and B) Mutual Fund Market
Government Bond Market
C) Derivatives Market D) Capital Market
E) Answer not known

ulldn WP FHMBMUW D GTMLSHBUISHI
A) SHHALE WEFIST IDDMILD SNTFIEIS LSBT B) LOUgFFaE0 o oLIGDIL Fhand
FbMD
C) ALFaanpaicv Fhamd D) APRBI FHNDH
E) ugev asniueaisamen

40.Non-Performing Asset as per the current banking norms is

A) A loan which is due during the last 90 days.

B) A loan whose instalment of principal and interest amount has
remained overdue for a period of 90 days.

C) A loan whose instalment of principal amount is overdue for a period
of 90 days.

D) A loan whose instalment of interest 76 amount is overdue for a period
of 90 days.

E) Answer not known

SHGUTMSW aIbId alSwansaildiLuR AFUMLULTS AFTHBHI

A) sLbs 90 pmesaico araubs Caiadnpu HLET.

B) owe whpnb anps azsnasuisr saman 90 pmsapbes SMBNs SoHE SLA.

C) o astasuiar saman 90 pnsapses STDSIOTSAIL HLAT.

D) 90 pirsabsd @B Sauman anp 76 asT@s BTETAUSUTIN HLT.

E) usev asmuaicomeo

41. Nil Darpan, which deals with the condition of indigo planters, was written by
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A) Michael Madhusudan Dutta B) Bankim Chandra Chatterjee
C) Lal Behari Dey D) Dinabandhu Mitra

E) Answer not known

SampBsn BT LESTI TSNS Bacvais SWTABLD B SHTUST erapsuiany
A) MDBCBH0 LDHITHBHHT HHBT B) uUBIBD FHBT FrLyed
C) e Hammd GL D) Saubzl WHIT

E) udev azmuwaiecoanso

42.Who among the following revolutionaries founded the Hindustan Socialist
Republican Army?
A) Ashfaqullah B) Batukeshwar Dutta
C) Ram Prasad Bismil D) Chandra Shekhar Azad
E) Answer not known
Hdramd yrnedunarisensd Shaievsnar Grrsaisvr GRUTSH STTaYIS®S Byl wmy?
A) OIAPLIGHE0EOT B) uBICHAPMNT HDHBHT
C) omb 1mgns 1ferouieo D) FHhBT CFHT HFTH
E) ugev azmueishamen

43. Chronologically arrange the following events:
1) Invasion of Alexander
2) Indo-Greek Rule in the North-West
3) Accession of Kanishka
4) Accession of Chandragupta Maurya
Select the correct answer using the code given below.
A) 4-3-1-2 B) 2-3-4-1
C) 3-4-1-2 D) 1-4-2-3
E) Answer not known
Hadramld Basipasamen STeoalflaFiup AHNMDSBBH:
1) ONAOBFTANLHST LIEDL AUIGLILY
2) anGhdsd SHEHT-BEIES Op1id
3) Soiapsiar 1TGaisFib
4) sipsrens awenfuidr Caisoms
SHC ABTGHHUILLGeiton GOuUiL@Ll LGTUGSS FRuTar uBmed CaibesBDHsaILD.
A) 4-3-1-2 B) 2-3-4-1
C) 3-4-1-2 D) 1-4-2-3
E) udev asmuaicoamen
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44.Chronologically arrange the following events:
1) Third Battle of Panipat
2) Invasion of Nadir Shah
3) Impeachment of Warren Hastings
4) The Diwani of Bengal transferred to the East India Company
Select the correct answer using the code given below.
A) 2-1-4-3 B) 3-4-2-1
C) 1-3-4-2 D) 4-3-21
E) Answer not known
Haramld Balpaisamen STeoafladFiuR aDuT® AFUILBISET:
1) Ap@IDTaIg uTaiur Gumy
2) BB TapTalar uamLAUGLIL
3) aImIaT Gamevipmisv 1BSTaT GHHEFTG
4) ABISTaTSBaT Saumail 2 flap BsBEbIu Slbauaised LTHDIILICL g
HCp ABTGSHBUIULBeTon GOUiradLl LWSTUGSS FRLUTaT UBMevD CHIHADBHBAYLD.
A) 2-1-4-3 B) 3-4-2-1
C) 1-3-4-2 D) 4-3-2-1

E) U0 AFHuaiecoanso

45. Consider the following statements and mark the option which is correct:
1) The first man-made port was found in Harappa.
2) The main crops of Indus Valley Civilization were wheat and barley.
3) The largest Harappan settlement in India is Rakhigarhi in Haryana.
4) The largest number of settlements are in Ghaggar-Haka village.
Which of the above statements are correct?
A)1and 2 B) 2 and 3
C) all of these D) none of these
E) Answer not known
Hadra®mld Afbmssmand HHDHHH AGTAIG FRUTaT AGLIUSMHBHS SVHBHLD:
1) welsamd 2EaATEHILLL P5® SGDYSD ADTIUTAD SATGHREHILLLSI.
2) Fbgl Foaauail BISNBHBST WphBw vulTser CsIHIMD WOHMID UMTed.
3) Shauralar Wsleufu anmiur GREWDHDD apfurarTald 2drer TTbSsIan Ob@&Lb.
4) OB aTaTavlbmBUlconar GRPUIGLHYBET STHT ~aDTHT SITDHB0 D eiTamar.
CIHGaNL saDmIGaicd gl FHLTaTg!?
A) 1 wHpnb 2 B) 2 wipnb 3

C) Saman NDDIBHHILD D) Samal aBHIaID Svanev
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46.Match list 'A' with list 'B' and choose the correct answer from the codes given

below:
List 'A’
a. Shiksha 1.
b. Kalpa 2.
¢. Vyakarana 3.
d. Nirukta 4.
e. Chhanda 5.
f. Jyotisha 6.
Codes:
@ &)
A)1 2 3
B) 3 1 2
C) 5 6 3
D) 6 5 4

E) Answer not known

List 'B'

Ritual
Grammar
Pronunciation
Metre
Astronomy
Etymology
(@) (o (7
5 6 4
6 4 5
4 1 2
3 2 1

uepwed A’ 2 mpwe 'B' 21 dr aunmss, £6p astGassiueGator SHWGsal®BHa Fiuirar

umevd CHIbHeSBHBALD:
urpwe A’

FHbapm

T o

SHeOLIT
MUITSBTOTIT

BHHST

® o o

FhSM
f. cansapr
SOUIGDHeir:

() ()
A1 2
B)3 1
Q5 6
D)6 5

E) UBD ASHuIalcoansD

ouv s wN S

urpwe 'B'
FLBIG
Se0dHHETLD
2 Faiiny
WLy
aumailey
aFTDimniuwed
@ )
5 6 4
6 4 5
4 1 2
3 2 1

47.\Which one of the following was a journal brought out by Abul Kalam Azad?
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A) The Comrade B) Al-Hilal
C) Zamindar D) More than one of the
above

E) Answer not known

HdraipaiaTabico amH1 G BT ObaFTH aaenuirL usSiads ?

A) GsmpT B) O160- anfleomed
C) exbammi D) cwea odien @dmISe
GLDLILL e

E) udev asmuaicoaen

48.How did the study of history help in creating a feeling of nationalism in India
towards the end of the 19th century?

A) By reinterpreting history and refuting the British portrayal of Indians
as backward, primitive and incapable of governing themselves.

B) By writing about India's glorious past and urging people to take pride
in their achievements

C) By urging people to struggle and change the miserable conditions of
life under the British rule

D) More than one of the above

E) Answer not known

19 oub BIDOTONEST SmIBuicv ShHBwmaler CHAu 2 @ITMal 2 HATHH QTETDUGT Gpbula)
TSIyl 2 Salug?

A) UITETIHENMD wmyuideoaman AFUINSHST eLpeOpLD, SHIuTsaen
HIOHUGSSIULL THMTSAD, LPDIDWUTITITSMTSAID, SHIGMaTDH STHEIBEN SbabLd
SoarmmaltsarTsab ey AS5SANIUMS LDIILSSHT ApevLb.

B) SHIumaldt YsSWAUDD SLbHS STOSMSU LD ETIDHIMDOHT APevapLD, DlauTdbenan
FISDIIBMe0 AUBLOBLD ASTATABLDLILPY IDSBMAT IUNISHBHIMBST APEOLPLD

C) OpRIBGOWT S AulaT SHIp 2 6reT HIUTIDTDT ATDHMD BaevaIIDHMen BUITTR IDHM
LSBT WNISHIAIBET APevLD

D) GG 26T RABMISS GLOHULL @D

E) UBD ASHuIalcoansD

49.Which of the following statements are not correct regarding the Non-
Cooperation Movement in the towns?
1) Only the upper caste and the rich took part in the movement.
2) The council elections were boycotted even by the Justice Party of
Madras.
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3) Thousands of students left government- controlled schools,

headmasters and teachers resigned and lawyers gave up their practice.

A) 1 and 3 only B) 2 and 3 only
C) 1and 2 only D) More than one of the
above

E) Answer not known
BBIEIBAND QHBHIEMPUITID SWHHID ASTLIUTS Hatamblb sahpisensn agl Fmulcoamen?
1) 2T FIBUISIBLD UMISGSTITHABLD GBI SubHBH5He0 UBIG AUDDAIT.
2) FrLFOUS BHTHMev AFdTaaIUled [HBHBLAUND LDHBHaNDHBHI.
3) OpUITHBETHBHTNT  IDTAIMTHT OIIdF SLUGUUTLIRED DeTenm  UsTaldmer ol ®
aaelGuart, Saeoanwndfuniser WwHDND SpdHuTser TrelaTmoT AFUISDIT LODHMILD

apSBMebI®Hel Smiben uulhHIDu Bl L.

A) 1 whoud 3 wrGEw B) 2 Hynb 3 wWrGED
C) 1 wHmnbd 2 G D) GG DT  RIIMIGS
GLoHULL el

E) ugev azmueaishamen

50.0n February 20, 1947, Prime Minister Attlee announced the British Government's

decision to withdraw from India latest by

A) August 1947 B) January 1948
C) June 1948 D) More than one of the
above

E) Answer not known
wiren 20, 1947 @é, Basio wbHi onel Sbsunaiedmba aaenGupnbd Bfitps) GITFTHISSBar

wpma ANalHSmT.

A) opseive 1947 B) esanausi 1948
C) a-ar 1948 D) GG 2dTaT  PIIMIHSH
GLDLILL e

E) UFBev A Hualcoanso

51. The Swadeshi and Boycott were adopted the methods of struggle for the first
time during the as
A) visit of the Simon B) Partition of Bengal
Commission to India
C) Home Rule Movement D) More than one of the

above
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E) Answer not known
&#B53 OO YDEHsa@NiY SpBwama WSSTWPdDWTS BuTITLEL Wwansaenr HarubDuilug
A) @FIDST  SLbapaiar SbBuim B) amisTara 1falenar
ABDD
C) ST s SuiboHID D) GG TN  RDIMISBH
GLDDLILL el

E) udev azmuwaiecoanso

52. Which one of the following is the first and the oldest Government-owned coal

mining company in India?

A) Neyveli Lignite B) Singareni  Collieries

Corporation Company Limited

C) Coal India Limited D) Mahanadi Coalfields
Limited

E) Answer not known
HdrapaaraDred agkh ShIuTaldl W e WOHDID LP@WUTST NATFTIRISSIDS QAFNHILDTOT
Bevdsd HIEIS Boiaand Opaib?
A) aBUIGaIad adbaarn: SHmTiuGTapar B) AmsCTanl sredunfav sLbaual afulea
C) GaTed SHBHuT AL D) IDBTHE Bwmevo olicor el afifaLL
E) UFev S Hualcoanso

53. As per Census of India 2011, which of the following group of States and Union
Territories does not have Scheduled Caste Population?
A) Nagaland, Sikkim, Tripura, Lakshadweep.
B) Nagaland, Lakshadweep, Andaman and Nicobar Islands, Mizoram.
C) Nagaland, Lakshadweep, Andaman and Nicobar Islands, Mizoram,
Arunachal Pradesh
D) Dadra and Nagar Haveli, Andaman and Nicobar Islands, Tripura,
Mizoram
E) Answer not known
20M o onan® SHIHW EHBET ABTMH HaAOIHABGUIGILIR, HdTaIbBLD 6bd LONIBEUBIGET LDDHMID
upaluer HIsFmIGaico ULIPWD FT18 IHEBET ABTMS SBamev?
A) mrsnenbsl, Addib, Sfur, orsssal.
B) BISTONbSI, OLFHSal, SbBHTST BHEEHTUTT Saidber, HGFIILD.
C) mrsrembz, erssbal, SbHWTG BEESTUTT Saisdr, WGFTID, OBANTIF® NTCHFLD
D) SUSIT HOHD BST anBaed, SbFSLOTGT WHMID BHEEHTUTT Saidber, Siyrm, WEFMILD
E) U ASHualcoanso
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54.Which one of the following is a tributary of Barak River in Manipur?
A) Dhaleswari B) Subansiri
C) Dhansiri D) Manas
E) Answer not known

wanfingfico 2 eiren LTS HBAUIGT HiDaT BF eTZH17

A) SHTGarervau B) SUSIF)
C) SFD D) LDA@TTEID
E) udev asmuaicoaen

55.Consider the following statements about an Indian State:
. It is well known globally for its variety of rocks and minerals.
Il. It has the largest deposits of Chrysotile Asbestos in the country.
lll. The Neelam Sanjiva Reddy Sagar Hydel Project is located in this State.
Identify the State from the following:
A) Jharkhand B) Rajasthan
C) Andhra Pradesh D) Chhattisgarh
E) Answer not known
SbIu wiBeold uHPiw Hdre®BD AN EMBBMTH BHaIDTULIBIHET:
l. 8% UGl AMBUTAT UTDDHET ODID STHSAHHBTH D cvHemaled
SPGB DSI.
1l 8% mBIrpd SHFTaLe  SeveudvLmevar Wsleaufu  @aiybasTasamulds
ABTAN BTN DI
. Beub sebfan amp FIHT ManLd SHrLib SbH WIBaSHH lIDIDHSHICTOTHI.
HaramalaraDafl®bbahl IOTBOSMS HLIUTATD STaIaib:
A) SIMTH T B) ITE3EOSHTET
C) OpbBHI NTCHFID D) FHHervdT
E) usevr asmuaicoamen

56.Which of the following statements about the coasts of India is/are correct?
1) The West Coast of India is a high rocky, retreating coast.
2) The West Coast of India is dominated by erosional landforms.
3) The East Coast of India, however, is a low sedimentary coast exhibiting
depositional forms.
Select the correct answer using the code given below:
A) 1 and 2 only B) 2 and 3 only
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D)1,2and3

E) Answer not known
ShIuraldr sLDHBdIS6T uDDW Hdtamld sahnIsaicv gl eﬂﬂu.lrmig/eﬂﬂmrrang?
1) SbIuralar CD&sS SLOHSOTUTAISHI 2 WIDTST UT;dDESET Bambsd, HararaLub
SLDHBHTTSLD.
2) ShIuraldr GLoH&GS SLDSMTUTAISI Sl BeoluTiSarTed OpBHHID AFISHIBDBI.
3) Siiand, SHIuTaldr SpsGs SLOHSMTUTOIH], LIPQ] AIPAIBIS@MET aaIefiuGHHILD
STPUTAT UL BHLMDHBEMTUITSLD.
SHCIp ABTGHBIULGeTon GOUTLOLL LSTUGSS FHuTaT uBaded CHIbHeSBHBLD:
A) 1 wHonbd 2 1wrGeEw B) 2 ioHmnb 3 wWrGEW
C) 1 @b D) 1, 2 wHynd 3

E) U0 A Huaiecoanso

57. Which one of the following States/UTs has the largest area under Coral Reefs

in India?
A) Gujarat B) Tamil Nadu
C) Andaman and Nicobar D) Lakshadweep
Islands

E) Answer not known
ShIumale vaemLTODGaldT S Hdtamh wiBossear/ualudr HItsFHsaic a5 ANBs
uTlUaTa IS aa;naﬁr@}ehmg?

A) SBINSH B) SWODBTG

C) ANBSIDTST BHEHTUMT SHa)B6T D) L FHHa)

E) ugev asnueaisoamen

58.In which one of the following highlands of India can you find temperate forests
called 'Sholas'?
A) Nilgiris B) Vindhyas
C) Satpuras D) Himalayas
E) Answer not known

ShBIuneidt HpssTapld abs WoIUGSsaic 'GFTemHn' aauGD 1SAaNING BTGEMND

srareomb?
A) Beod B) aibgumaiv
C) FHYTTe0 D) S1DUIDED

E) ugev asnueaidhamen
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59.The Indian desert also known as Marusthali is believed to be under the sea

during which one of the following eras?

A) Cenozoic era B) Palaeozoic era

C) Mesozoic era D) Archaean and Pre-

Cambrian era

E) Answer not known
LDBHEH rSINID DIMPHBIUGLD SHSWI UTMOMUDIND SLAIGD puiev SBHSHMH BHLOLILGLD
AbBHH BTVHH?

A) QAFBaTGFTUNS FHTIHID B) GualGUITGFTUlS FHTIHID

C) ADBFTGFTUIS FHTISLD D) OpIsBweST wHmNd Caifugsd

WhaBUl HTe0LD

E) U0 A Huaiecoanso

60.Which one of the following States/Union Territories has the highest percentage

of forest area to the total geographical area?

A) Arunachal Pradesh B) Lakshadweep

C) Nagaland D) Mizoram

E) Answer not known
1arenmib I.DI'I'J_T;GDI'IiI&GiI/ upaiwdr HrGssmsalisv ek bMSs yaiufwe umnid OBs FHais
QUDTLILG DU ma;rrain@eirmg?

A) ANBAITFFev NTCHFLD B) L FHH)

C) BASTEOTHSI D) WGsFTmD

E) UFBev A Hualecoanso

61. Who among the following formulated the concept of poverty as a measurable

development indicator in the Indian subcontinent?

A) Dadabhai Naoroji B) Romesh Chandra Dutt

C) VKRV. Rao D) M. Ranade

E) Answer not known
SHIU DD SFHILHHND SNaTALbBInpul  alanIFdd SHUILTS QIDIMID adIin  HHHMSL
Haraimaiaramflev wimy ABHBITBET ?

A) STSTUTUI AHeTGITS B) QITBIe? FHBT BB

C) VKRV gna D) enb. gmanL

E) usev asnuaicoamen

62. Which of the following Union Ministries recently launched the YUVA 2.0 Scheme
in 20227
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A) Health and Family B) Education Ministry

Welfare Ministry

C) AYUSH Mantralay D) More than one of the

above

E) Answer not known
Hdrapaatamieo abs wHsiu Omwsssib sifusso 2022 s YUVA 2.0 scisas
NP PHIUGSB 7

A) &STSTID 1IDHDID SGIDU [Hev DMEMIDF-FHID B) BHeval SIMLDF T

C) Opujap LbHBTCM D) GG 2 dTam RDIMIHS CLoDLLL M

E) uFev ABHuaiecoanso

63.The Ministry of Home Affairs has completed the Mother Tongue Survey of India
(MTSI) in November 2022 with field videography of the country's how many

languages?
A) 40 B) 233
C) 576 D) More than one of the

above
E) Answer not known
2022 manburiéo, Butpar ahsmar amysenar et alpEUTSTT oflujdr ShBHurelar Sruiary)

Spuianen (MTS|) 2 MIHIDN AMDIDFFHID BODa] AFUISGICTOTSHI T

A) 40 B) 233
C) 576 D) GwBew 2dTaT  PIIMIHSH
GLoHULL el

E) ugev asnueaisoamen

64.Which of the following committees submitted a report on gas pricing,

recommending complete pricing freedom from January 1, 2026?

A) Arun Goel Committee B) Kirit Parikh Committee

C) P. K. Mohanty Committee D) More than one of the

above

E) Answer not known
aaraf 1, 2026 gpsé wapmwurar eime Biamu ssbITSMBN UTNbHHIMISSH, amMamu) alae
Biamubd sPi5s Smsmsau Ndamd absd G FDTNSss"?

A) OIBHAT BHTUID HAp B) S unlé Sup

C) e awrmhs sy D) Gwee 2diar g@misa Gburtma

E) UFBev A Hualecoanso
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65.The Prime Minister inaugurated the first greenfield airport 'Donyi Polo Airport'
in which of the following locations?
A) Dholka B) Itanagar
C) Dibrugarh D) More than one of the above
E) Answer not known

GLmafl GuTGm alibmar Baeouwld adin apsed Bfarc oicor afiomar Baeowsas HaTalBD &b

SLSB® TIsi BobH daSsTT ?
A) G mevBT B) SLIBSBT
C) BBBIT D) GRw DeTom  RDIMISD
GLoHULL el

E) ugev azmueaisoamen

66.India's first floating financial literacy camp was organized recently by India Post

Payments Bank in which of the following locations?

A) Srinagar B) Andaman Islands
C) Kerala D) More than one of the
above

E) Answer not known
ShIuralar Wwpev WHHSD BB Sevalwne Wwasmb, SbHBuT GuTave GUALDEDIGL @IBIBWITED,
Hdraipib abs SLSHd FibusHed aduT® asunuinLg?

A) Wb BBT B) ObBHIDTDT H]BEIT

C) @xmemm D) GG 2 dTam RDIMIHS CLODLILL Mol

E) UFBev A Hualecoanso

67.The President of India inaugurated 'PARAM KAMRUPA' Supercomputer facility
at which of the following IITs?
A) Kharagpur B) Bombay
C) Guwahati D) More than one of the above
E) Answer not known
diaipib arbs @me2puied ‘UMD SIDGUT SpIUT SDIULLLT aFSaou SHIHus SPUTFHS SMevalt

BObBI DB ?

A) STTHLLT B) ubumu
C) BABTHB D) GG DeTeT  RIIMIGS
GLDLILL e

E) ugev asnueaidhamen
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68.In the 90th Indian Air Force Day, celebrated on 8th October, 2022, an hour-long

air display of eighty aircrafts was carried out over which of the following

locations?
A) Gateway of India, B) Dal Lake, Jammu and
Mumbai Kashmir
C) Sukhna Lake, Chandigarh D) More than one of the

above
E) Answer not known
oseLmuy 8, 2022 ey astammime 90z Sbsu elraniumL  HarsHeo, eradILG]
alnassaiar @ Wl GBI alrards sMs HSaED abs SLSBM BLSSHLCLEST
A) GoHLBa Opo’oll SbBuT, aprbanil B) B0 o, 23bap wHMHND STapLDY
C) SHOTT eI, FaONPHBT D) GG 2 diTen PAHTMIBS GLODLILL e

E) uFev ABHuwalecoanso

69.Which month of the year is celebrated as Rashtriya Poshan Maah or National
Nutrition Month under the Poshan Abhiyaan of the Government of India?

A) May B) September
C) July D) More than one of the
above

E) Answer not known
CuTapdT SbHBu STFar Curapadr Snlwumar Hip Maah ONvevdHl BHFA 2aN’L FFSHZH1 IDISLD OHADNPET
ellbd LDMBID TT@PIPHUIDTSH Gla;rraim_m_ﬁu@agg)g?

A) @Gip B) A@gFuLLbuT

C) )0 D) GG 2 6iTem RPEHTMIHH GLODLILL Ve

E) ugev agnueaidhamen

70.Who among the following recently received the 2022 Booker Prize for his novel,
The Seven Moons of Maali Almeida?

A) Michael Ondaatje B) Pradeep Mathew
C) Shehan Karunatilaka D) More than one of the
above

E) Answer not known
Sipssamarisaico wmi FfusBo HaTH & AFADST APSIGD Bpo'oll DT SOGDLT HTMNIHHTS
2022 ysai udaai @uﬁ)g)rrfr?

A) MDBCBHe0 ML Ge3 B) fodi Goduy,

C) APADTAT HHEITHED D) GG 2 eiTen PBIMIHSH GLODLILL EMen
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E) udeo asmuaicoamen

71. What was the theme of the World Space Week, 2022?
A) Women in Space B) Satellites Improve Life
C) Space and Sustainability D) More than one of the above
E) Answer not known

2022 2 vz ala@nmaaed aMISS@ST SEGHUALTHBET raT@n ?

A) alaraaenuilcd QLIGHTaS6IT B) AFWLIDNSHS CHTETSHET UITLpHENBHaDUI
GLbUGS HIBSTD@T
C) alamaaied HNHID BaewsHBHIENLD D) GG 2 éiTen PHIMIHSH GLODLILL e

E) ugev azmueaisoamen

72. A 5 x 5 x 5 cube is formed using 1 x 1 x 1 cubes. If we add another layer of such
1x1x1 cubes in the 5 x 5 x 5 cube, then what will be the number of 1 x1 x 1
cubes in the newly formed cube?

A) 216 B) 150 C) 175 D) 264 E) Answer not known
@® I X5 X5 sar smmb 1 X 1 X 1 sarssmmisaen usuGss$ 2 panssiuGdnas. D X 5 X
5 sassmsso gssmsu 1 X 1 X 1 sarsmmsaisr wHanim ABsdss CFiSST0, UBHTH
2 pamssiumL sasnsdo 1 X 1 X 1 sarsimmsaidr aanaisas adiaans Swmsaib?

A)216 B)150 C)175 D) 264 E) usé asfuaicmen

73. The total number of students in a class is 400. The ratio of number of students
who like Arts and the ones who like Science is 3:5. The number of students who
like Science is more than the ones who like Arts by how much?

A) 140 B) 100 C) 180 D) 16 E) Answer not known
®® izl awnss wranalisaidr aanaisms 400. smewow ei@byh  wraTarTSeNST
aamanisas 1bHoID Onfelumen almIbyd TSNS aaNmisms 3:D Gp@Ib. B@evadi
alpyuarismenr ol Sfleluaee allBLbyLD LoTaIaTHeidr eramanihbans aaiaiena)?

A)140 B)100 C)180 D)16 E) usco afuiedcome

74.In the following question, select the number which can replace the question mark

(?) from the given alternatives:
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A) 2197 B) 343 C) 2144 D) 1231 E) Answer not known
Hadramd Gaseraiuliet, A®TGHSUILLL WIDDISaTev SHbHH CoheralbSranu (9) LOTHM&InIPUI
TS BHIHASBHBAID:

h——_— e—— o ———

A) 2197 B) 343 C) 2144 D) 1231 E) usév asmuaicoamen

75.There are 6 tasks and 6 people. Task 1 cannot be assigned either to person 1 or
to person 2; task 2 must be assigned to either person 3 or person 4. Every person
is to be assigned one task. In how many ways can the assignment be done?
A) 144 B) 180 C) 192 D) 360 E) Answer not known
6 uanimer wHpnbd 6 Gui 2 srenant. uanll 1 & wut 1 Gvevs BuT 2 58 HBS appwng; uash 2
3 Bui Oz 4 BUTBERHS RBIGHILL CENBID. RHAMT®H HUBSSID B LN RBHIGHIILIL
CauanGib. uamiaw assmar anfseaisn aguiueomb?

A) 144 B) 180 C) 192 D) 360 E) user agmuaicoamen

76.Vaccination drive for Covid-19 is carried out in a village of 1000 people. The first

person that comes for vaccination is placed in Group A, the next two in Group B,
the next 3 in Group C, the next 4 in Group D, and the next 5 in Group E. After
the 5th member of Group E, the pattern repeats, starting from 1 member in
Group A and SO on. The last beneficiary to be vaccinated belongs to

A) Group A B) Group B C) Group C D) Group D

E) Answer not

known
1000 wisdr aiseib STmpsBd Corair-19 5@iLA Subsb BLESIUGSDS!. SEILAGES aIBLD
Yoo BUi Sabil o, NBHS> SoaT Gl 1, NBH5 3 CuT Sabil A, NBSH 4 Sebll 1p, NGHH D

GUT &ebll 12, NBSHD 5 Gui @b . 5a|g,| 2 puiilarpsei ID&, GHap A wHmnb SO s 2drer
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1 2 puiaried®HaH ASTLRSD pon WBanGl Bspdns. sSoLiuns $GIYE GurLiurL
vwarTeiaws CFibsaT absds Gipmald FaIbBaIT

A) s A B) s B C) s C D) e D

E) udev asnuaiecoanso

77. Meher purchases 3 apples, 7 bananas and 1 lemon for Rs. 285. Rohan buys 4
apples, 5 bananas and 1 lemon for Rs. 245. How much does Harish pay if he
buys 1 applel 11 bananas and 1 lemon?

A) Rs. 345 B) Rs. 365 C) Rs. 385 D) Rs. 375

E) Answer not

known
awani 3 Gpinienser, / amawiuprser whpnbd 1 aandsasaw . 285468 anmiBamt Crmandr
4 epmieizer, 5 amewiupEsdar wHpnd 1 aandsasou o». 245686 anmidomt. apfeap 1
opinfar] 11 ameppiupid wHpnd 1 aandsas anmiBame asaene ASTGHBHIT?

A) w. 345 B) «». 365 C) e». 385 D) w. 375

E) udev asmusisvaren

78. The ratio of jobs done by 30 girls to the job done by 25 boys, in the same time
period is 5:6. If 9 girls and 10 boys can finish a job in 40/13 days, then how
many girls are required to complete the job in 6 days?

A) 16 B) 18 C)15 D) 12 E) Answer not known
30 auanzéar asFuub Gaimadssd 25 @auwudisedar aFuls Baimadbeid Q6T CBISBR® D:6 aldmsibd
pdrangl. 9 auanseand 10 ovan Gwbazssabd @m Cameamu 40/13 presaid wpss wpunbd
adimmen, 6 Brsaicv BaiMe@mul WIRHS THBMDT AUAIGET BHaea?

A) 16 B)18 C)15  D)12 E) usiéo amrfusaicoaneo

79.The Compound interest on a certain sum for 2 years is Rs.1,512 and Simple
interest is Rs. 1,440. If the sum is invested such that the Simple interest is
Rs.2,592 and the number of years is equal to the rate of interest per annum,
then find the rate?

A) 5% B) 6% C) 7% D) 8% E) Answer not known

2 oLaNBHaBHS RB SHINIL ASTHBHBTI Fnl"B Q1P a5.1,512 OOID erafl QI ¢b. 1,440.
aeiin ey 052,992 whpub aGLEISANST aoI@isms Opan®G 'y aSS5IDE& FIDIDTS
SBHHSID aMBUi AST;IS WHESB AFUILNILLLT®, Bssm5dh SAMGUEIRSBIT?

A) 5% B) 6% C) 7% D) 8% E) uzev asiuaicoanso
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80.There are nine 2-digit consecutive odd numbers. If 59 is the mean of the first
five such numbers, then what is the mean of all the nine nhumbers?

A) 73 B) 63 C) 65 D) 61 E) Answer not known

RIS 2 Swds ASTLIFAUTT @DDDIILEIL TANHET D GTaTal. ApHed RbJHl aavnsanar smam 59
aSIDTED, PATUBHI TaNGaiaT FITFN eraTan ?
A) 73 B) 63 C) 65 D) 61 E) UL ASHuIalecoansv

81. Select the missing numbers from the given alternatives.

17|12 ] 11
47 143 | ?
4 15| 6

A) 55 B) 49 C) 53 D) 46 E) Answer not known

ASBTBSHSUILLL 1oTDmIS6Te0 SHbah alGULL crasmans CoIbasBHBab.

17112 |11
47 |43 | ?
4195 | 6

A) 55 B) 49 C) 53 D) 46 E) user agmuaicoamen

82. Tho' human beings in their birth are the same by diverse trade their 'worth isn't
the same.
Trace the essence or meaning of this Kural

A) Removal of Casteism B) Removal of

Communalism

C) Removal of Class System D) Removal of Varunasiram
E) Answer not known
IniauTsSID ereveom 2 ulidb@ib FAmiaumeienn
aFuiasmMPd CaubhnIMID WS - SE&meT el AUDILGLD HHSSI WG ?
A) 515 @iy B) ws @uiin

C) afdHas @iy D) BT LI
E) alanL asmuielsoaeo

83. What according Valluvar is the great help rendered by the son to his father?
A) Protection at his old age B) Saying good words

C) Give monetary help D) To bring honour
E) Answer not known
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IDGST HHMBHHS OpDHDID 2 Hail - adIN MeTabaT aBmaId GUIMIGSSHTT?
A) waHImDuileo BIHHe0 B) BOHAFTD FnM6ED

C) AUTHET ABSTBHEHI D HABHE0 D) LUSApLD LR eIMpEHed

E) ol asmuialcoaneo

84.What will happen to a man who walks in grace deters and walks towards
materialism according to Valluvar?
A) Live a Good Life B) Live in Prosperity
C) Get Destroyed D) Live with Relatives
E) Answer not known

Spaan alBLbll BLIUaNT, IDT AuTGmer allbLbu GBI LT DlaT ISIaT ObLAITT AT I aHaIT

alareyBomi?
A) BTG MDY B) QFPWILST enmpanmy
C) asLraLmpeiy D) SDHDAPLST anmpaniy.

E) alaL asmuielcoaneo

85.Who according to Valluvar is 'superior to the person who does' charity and
penance?
A) One who never slanders B) One who speaks truth
C) One who is learned D) One who talks sweetly
E) Answer not known
Sranapd sauplb AFuuaismaTalL 2 UThSaTSeT WMT aam aerapat SHMIGSDmT?
A) LD BIFRDTHaIT B) 2 aorewip GuarLiaT
C) sHoval Gopemaisaiev Fmbsant D) Saisrsi Buaruany
E) L asmualecoanso

86.What kind of wealth will give happiness according to Valluvar?
A) Donated Wealth B) Wealth by Rights
C) Wealth that is earned D) Wealth by Warfare
through fair means
E) Answer not known
aILPIUCL AUTBET RBAUBES SIUSMBHH HBID TN MeTabaT GHINIGBSSTIHIT?
A) ABTEDLUITED MbBH CLITHEIT B) 2 flanpuimed albd UITHGIT
C) HBI aMbBH ALITHET D) GuIImed aNb® AUITHET
E) alaL asmuielsoameo

87. How does Valluvar see those who fix their attention on impermanent things?

ACF|DEO MODEL TEST -1 IYACHAMY ACADEMY CHENNAI
ITIRUNELVELI| TENKASI - 9952521550




IYACHANMY ACADENMY

INnstitution For Competitive Exam

A) In Excellence B) Deplorable
C) Hopeful D) Surprised

E) Answer not known

BareouDDDAISMET BdLTaIda GaInl SHBIBDaTsMen aleTapal eriupl unissnmi?
A) ALIHELDWITSH B) SPains
C) BLDISaBWITS D) lwiiums

E) alaL asmuialcoaneo

88. Which of the following point(s) is/are being included while defining 'Social
Justice'?
1) Equal rights
2) Equal opportunity
3) Equal treatment
4) Equal distribution of wealth for all
A) 1 only B) 1 and 2 only
C) 1, 2 and 3 only D) 1, 2, and 4 only
E) Answer not known
Spsstamabper  agi/ada  'saps  BSow  aoIuDIGSD  AUTWSI  GFISDHIS
S THTaTILGSDSI.
1) FID 2 [fleawip
2) F1D eumuirig
3) FIDDNS BLHHIHEO
4) AFVMUSBNDT NMDTNBHHSGILD FIDIDTD LBTFH0
A) 1 @b B) 1 LOHMILD 2 wr®Gib
C) 1, 2 wHpnd 3 wr@b D) 1, 2 whpnb 4 wreb

E) AL asmuielsoaneo

89. Which district is the top exporter of finished leather goods in the country?

A) Salem B) Vellor

C) Dindigul D) Madurai

E) Answer not known
SbhBumaleo BHTev AUTBLBMN AlFBsaTaled SWMHSHH SOMIDS QAFUIUD LDTILLID srgu?
A) (£ 20V ) B) Gaugumit

C) BN BDIHD D) LDBHIMT

E) alaL asmuielsoameo
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90.Tamil Nadu Health System Reform programme is implemented with the funding

support of
A) World Bank B) World Health
Organization
C) UNESCO D) National Health Mission

E) Answer not known

SWD BTG HBTHIIF ST SrLESD® BB 256l asar dpeld BaLsBaTnas?
A) 2 w® aEd B) 2 W FHBMTSMT BNIIDILD
C) ujaaTevBHT D) GCHa FHBTSMTT LOQRST

E) alaL asmuielsoaneo

___________ Scheme was designed to bridge the learning gaps that developed
as a result of the pandemic-imposed lock down.
A) Smart Classroom Scheme B) Computer Labs Scheme
C) Ilam Thedi Kalvi Scheme D) Ilam Thedi Maruthuvam
Scheme
E) Answer not known
AUBHASTOM CHTUIDTT® WLHSLILI'L  STTMHST0 2 BTN SDDD GODUTLEML &
AFuISDHSG 2 HaITdsimL L@ __ OpBIb.
A) CUIDUGSHILLL ASTPOSHI'U  IGLILIDD B) sanial Opuiensd L LD
b
C) Sevovlh BHIpd Heval Br°L 1 D) Sevevlb G512 WBSHIAND BL b

E) alaL asmuielsoaneo

92. Which two districts of Tamilnadu are frequently affected by cyclonic storms?

A) Theni and Madurai B) Nagapattinam and Cuddalore
C) Villupuram and Perambalur D) Kancheepuram and
Ramanathapuram

E) Answer not known

SWD BILIRST oIHS STANI® LOTAILLBISEHT SNRSBIR LUl armed urrg?eiiasl]u@aﬁahmm?

A) Gpail HHID WgHIMT B) BISUULIPOND HDHID SLEYTT
C) aflapiiymb wHmHNd aumbusyIT D) SNebdTLb LOHLID
SITDBISLTID

E) L asmualcoanso

93.The Government of Tamil Nadu has instituted an award by Name __________

to a person outstanding service to promote communal Harmony.
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A) Thiruvalluvar Award B) Kottai Ameer Communal
Harmony Award
C) Perarignar Anna Award D) Pavendar Bharathidasan
Award
E) Answer not known
DS HoaMHBHMS GLDUGSSHID amsuid FDbHH CFraauTDHUu RHMNBSSH SWOLDBHTG ATdw

PRIGID allbdBl, _ .

A) BpalcTanal aldbal B) GaTraL SubT 1D Hevedlawr
allBH
C) CUIebT DNTMaIT AN BIHI D) urCanbs T UTTBHTFOT BB

E) aloL asfualsoamen

94.The Tamil Nadu Rice Research Institute (TRRI) working under Tamil Nadu

Agricultural University is situated in _________ District.
A) Thanjavur B) Dindugal
C) Salem D) Thirunelveli

E) Answer not known
SWODHTG CalamTar LBMe0dH BLDHHHBOT (TNAU) S1D AFwe B QIBD SODBTG 6bed
OpImuilsFs Bniaarb (TRRI) ARG D 6T’

A) serrayt B) gan@smd

C) @aevLD D) BHeBe0EAIN

E) L asmualecoanso

95.Tamraparni is a perennial river that originates from the __________ of the
western Ghats.
A) Agastyar Koodam peak of B) Siva Gnana teertha
Pothigai hills
C) Varusanadu hills D) Thenpennai
E) Answer not known
sSmOTurenl eramgs __ _ _______ 2 FAufed GLDG ASTLIFF waewuiev 2 BATSHLD RBH

MDDTS BBWTSLD.
A) OBVBUT Fnl HHD AUTBENH LD B) Faepmar SHiHHLD
C) ABF BTG LDNEOBHET D) ABHATALIGOTENEDT

E) L asmualcoanso

96.Tamil Nadu Transgender Welfare Board comes under which department?
A) Health and Family Welfare Department
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B) Adidravidar and Tribal Welfare Department
C) Welfare of Differently abled person Department

D) Social Welfare and Women Empowerment Department
E) Answer not known
BHBHEIMS Heoamiund HdrampaaraDpier abss HMDUiGT S AFuREUGSEDSHI
A) SFSTSMILD OMID SBLOU HoHHIMM
B) OpSBITaILT 1oDMID MPEIGPUIDTT HESHHIMD
C) LIHDISSDITTNBH6T HOHHIMD
D) Fpd BV OHMND Wi GLobUMGHHIMD

E) AL asmuiallcoanso

97. Which one of the following is the policy of Anna in the Tamilnadu politics?

1) Establish the identity of Tamils
2) State Autonomy
3) Co-operative federalism
4) Scientific Socialism

A) (1) only B) (1), (2) only

c) (1), (2), (3) only D) (1), (2). (3), (4) AW

E) Answer not known

SODS AMTAWID SHLDHEADILMABETD I NI ABTATDBUITSLD

1) SWPTT HailSHSHTEMIDM BaeOBHTL BH60
2) (T i 20 o T I
3) RGO FarLmEd
4) alebepTan BamaniadFib

A) (1) we@b B) (1), (2) we@wp

C) (1), (2), (3) weses D) (1), (2), (3), (4) owwarsoues

E) L asmualecoanso

98. Match the following places with its corresponding products:

a) Ranipet 1. Poultry
b) Salem 2. Turmeric
¢) Erode 3. Leather
d) Namakkal 4. Steel

@ ® () (@
A4 2 1 3
BT 3 4 2

Q2 4 3 1
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4 2 1

E) Answer not known

Hdramd SLEIS@MaT JIMDEDTG ASTLIUDLUaDHEDTG AUT®HHSHIS.

a) oTaoiiGLL L 1. CamPiuaTaaoT
b) GgrevLb 2. webar

C) L (C) 3. @ med

d) IBTID&&HED 4. 2 mébx SmbyY

@ 6 © @
A) 4 2 1 3
B) 1 3 4 2
C) 2 4 3 1
D) 3 4 2 1
E) aiaL asfualsvaen

99.According to NITI Aayog report 2018 Tamilnadu ranks third in
A) Industrial Development B) Health Index
Index
C) Poverty Index D) Standard of living Index
E) Answer not known
B3 op6urns 2018 - OGasuianne SHIG HarabD a8 dpdTmTD SL g3 2 cireng1 ?
A) asTYPDHHIMD auemid-dd B) OpBITHBIS SHUIB
SDuiG
C) aImImnd SDUIG D) ampsamas ST SHUIG
E) L asmualecoanso

100. The powers of the Election Commission include which of the following?

. The Election Commission takes decisions on every aspect of conduct
and control of elections from the announcement of elections to the
declaration of results.

ll. During the election period, the Election Commission can order the
Government to dismiss some government officials.

lll.  When on election duty, Government officers work under the control of
the Election Commission.
Choose the correct answer using the codes given below:
A) I and Il only B) I and Il only
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D) Al of the above

E) Answer not known
CHIBHV OpMAVTULSBGT ANBBTNHIGET LSTBUITANDI0 TMDH 2 ctemL Bz ?
l. CxpIsev SPalliy WD RS APASSIUGLD T BGHIH® BLHMS LWDHMHID
SLGUUTG ASTLIUTST SDIDIHH SlIDFBISaIAID CHIHD® OpaETUID  WIPAIBET
TBHSLD.
Il CHTHD BTHBHN, Fev AMIFF ANBHTH BT LB [HHBID AFUI CHTHD BLOAPDHT ANTFHSH
2 & meileomib.

ll. esizd uamiuiar Guim, OUsH SEEETseaT ECHised SHapaldr  HLGUUTLIPE

uaniyfSaTneanT.
HC ABTGHHUILLGeiton SGDUIGSMeaTl LISTUGSHS FHuTaT UBMdD BHIHABBHBALD:
A) | wHmnd Il @b B) | wHpubd l irGew
C) BIST LGLD D) GG 2 ciTen AIMBIHHILD

E) ugev azmueaisamen

101.  What is/are the provision(s) to safeguard the autonomy of the Supreme
Court of India?
. While appointing the Supreme Court Judges, the President of India has
to consult the Chief Justice of India.
ll. The Supreme Court Judges can be removed by the Chief Justice of India
only.
lll. The salaries of the Judges are charged on the Consolidated Fund of
India on which the legislature does not have to vote.
Which of the statements given above is/are correct?
A) I and il only B) I and Il only
C) Il only D) I, Il and Hll
E) Answer not known
ShIu 255 BIHOGDSIST SHUNTCFAMUL UTSHSTOIUSDST ABHET TSTAT?
. 255 HBuBsam BUNOSSID CUTH, SHIW [ANMBUSB, SHIW HMEMID [HBLBMUI
BN HBTEOTHHD CaIaTBLD.
1. 2 55 HIHIWITID HBUBBMN SHBHU SHMMID [HHUS WLEGEID HoHs appuib.
L. bIuBsaian Fibuenb SHIHuTaldl RBEISHOHS BIHulev AFHMSSIUGEDHI, DB
FLLIDHTDD amdhsHeishds Balampuigdeoame.
GG ABTHHBLILLL FnDMIHaTed T3 aﬂﬂu.lrrangu/ eﬂﬂl.urrangu?
A) | whonb Il we@ew B) I wipnb Il we@b
C) I wre@p D) I, Il wipnb 1
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E) udeo asmuaicoamen

102. Consider the following Assertion (A) and Reason (R) and choose the correct
code:
Assertion (A): The Parliament of India consists of the President and two
Houses.
Reason (R): The President is a part of the legislature even though he does
not sit in Parliament except for the purpose of delivering his opening address.
Code:
A) Both (A) and (R) are true and (R) is the correct explanation of (A).
B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
C) (A) is true, but (R) is false
D) (A) is false, but (R) is true
E) Answer not known
Haramd snbml (A) wHHND SNyEwnd (R) OpBLIDDDS BHDHB® ABTANG FHuTar GHuiraL s
GaiihasBHBaD:
Dol (A): SHIH HILTABLSIDID SPWTFHSH Sl LDDID S® NDABDTDH CABTTLIFHI.
SITTEOTLD () SPUTFS SHOA] SIGH COBTLES DHTMU QIPBIGASDDBTHS BT
UTITABLOSTDSHB® SNDTaNOMED ISIDTAYLD DMl FLLIDSIDSHSHT Qb USSWUTS SBHBDTT.
SDuiG:
A) (A) wHnnbd (R) SIanGLD 2 @TaID LMHMILD (R) eTaTUgGI (A) Sar giwmar aflonssib.
B) (A) ioHmnb (R) STGNGID D DD, SHANTEL (R) aa@Tug] (A) S siwnar eflendsib
Bl6vev.
C) (A) D GIENLD, OHbAITeD (R) BHAMTATHI
D) (A) SHADTDISH, ObDITe0 (R) 2 ATEMLD
E) U0 ASH IO

103. Which of the following are among the Fundamental Duties of citizens laid
down in the Indian Constitution?
. To protect the weaker sections from social injustice.
ll. To develop scientific temper and spirit of inquiry.
lll. To preserve the rich heritage of our composite culture.
IV. To safeguard public property and adjure violence.
Which of the statements given above are correct?
A) Il and lll only B) I and Il only
C) I, 1 and IV D) AU of the above
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E) Answer not known
SbHIu AMTFeomninisd  GOHMILOurGeter SIPIDGHANST SUPLIUDLS SLMIDSaie0 LHdTalmbLUaal
Tanen?
l. Faps OMbHuleBbH Helbds HialaradTl UTHISTHS CaISMBLD.
Il SIalicd @TIILTSIDEWULD, alFTHGSID WaTILTSIIMWULD aenTbs Calam®BLD.
L. BIDHI HOLILY HOTFFITHBSN aIamDTal UTTIbURIS;S LTHIBTEHH.
V. AUTHIF AFTSHBHIBBMET UTHISTIUSDGSID QISIWPadDdWS STILSDESLD.
GG AGTBHSILLL sndmisaied ozl Fiuirargs?
A) Il wHond Il we@ew B) | wHmnd l r@ew
C) I, 1l wHpnbd 1V D) GG 2 ciTen AIMBISHILD
E) ugev azmueaisoamen

104. Which of the following entries of the Indian Constitution deals with the
institutions for scientific or technical education financed by the Government of
India, wholly or in part, and declared by Parliament, by law to be institutions of
national importance?

A) Entry 64 B) Entry 63

C) Entry 65 D) Entry 66

E) Answer not known
@b SFwevapiiar Hdramd 2 draiGsaicv g, SHIHW GTFT® WIPDWTHEEAT Di0VHI
uUSSUTHCaT BSwaisasiurL Snjali Dlvwgl ASTWOSI LS SoalbSTaT BNIQISTBISMTS
dSWTTEMmSH WOHDLD CHIw  wHBwsSHend aTuibs BOIAGIBISATS FLLSHBH  dpeold
UNTIMTABIDSIDSHTD G albHIN L gl

A) siwpay 64 B) siampay 63

C) siewpay 65 D) siewa; 66

E) UL S Hualecoanso

105. I Judge of the Supreme Court can now be appointed as Chairperson of the
Commission.
Il. Term of the Chairperson and members shall be three years.
lll. Chairperson and members shall be eligible for re-appointment.
Which of the above statements is/are correct?
A) I and Il only B) Il and il only
C) L land Il D) I only
E) Answer not known
l. 245 BSwWaID BSUS SHCUTH OLPDAMUSSBHT HAEOATTS BILDHSIILILGOMLD.
Il. soevani wHpID 2 priniarisaidn uBalSSTD APSTDI OLATGSET.
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lll. saevant 1bHHND 2 MumiaTiseT Y BUILATSBEDS HSGH U@L ILIITHET.
GoBev 2 éiTen FnHMIBETD CIHI cf;ﬁu.mang/ Fiumarz?

A) | ibhond Il we@b B) Il wHmnd ll we@ew

C) I, Il wipub NI D) mudr wedth

E) udev azmuaiecoanso

106. What is phenology?
A) Study of phenol production in plants
B) Study of periodical phenomena of plants, such as the time of flowering
in relation to climate
C) Study of excretory pathway of phenols by herbivores
D) Study of phenotypic variation in newborn individuals of cats
E) Answer not known
armeved GrSTDTeD eratan?
A) STaIBIGaND Harmed 2 HusHs uHHlu Spuia)
B) SHTOBMO ASTLIUTAT LSBLD CHID BGuUTaD STammsSaidn T Bolpaibeliarn Opuia)
C) STATADBHHANTD LaTTeosaidn aalefCubm UTMs uDPW Opuia)
D) yoarsaiarn yssresn Inbs Buiseals HEarmaLid WwImUTG uDDiu Spuia)
E) usesd asmuaicomeo

107. Infrasonic sounds have frequencies

A) above 25 kHz B) between 20 kHz and 25
kHz

C) below 20 Hz D) between 20 Hz and 20
kHz

E) Answer not known

OBFFalliy RaB6T ANBTANGNBDTDH 6B TN BTN

A) 25 kHz s& Gweo B) 20 kHz whpnd 25 kHz
SanL G

C) 20 aaniratses Sew D) 20 Hz whpnd 20 kHz
SanL G

E) ugev asnueaidhamen

108. Which one of the following statements about X-rays is not correct?
A) X-rays are longitudinal waves.
B) X-rays are transverse waves.

C) X-rays are electromagnetic waves.
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D) X-rays do not require a medium to propagate.
E) Answer not known
X-s@iser ubmu ddamd seHoiseic g FRuTaIEI Geben?
A) THEAV-BBTBET [HATIDTDT HEMEODHEIT.
B) IHE-BBTHN SMIHDH NMEVBEIT.
C) AHAV-BBABET 1ODIBNHDH NMVBHGEIT.
D) THEAV-BBTHET LTNASDH RH 2L HID CHMMUNcvan6v.

E) useéd asmuaicomen

109. Milk of Magnesia is used when people suffer from indigestion of food. It is a
A) Strong base B) Mild base
C) Strong acid D) Mild acid
E) Answer not known
IDHBET D avia) ANSTAMHST0 UTBHBILUGLD GuUTH WHafsumaladr uTed LWSIUGHSILGEDSHI. DG
(210)
A) QUNIUTOT STTLD B) GeoFTar HMILD
C) UNIUTT SievLd D) GevFmar SideoLd

E) U0 AFHuaiecoanso

110. Which one of the following pairs of metals are very good conductors of heat?
A) Silver and Copper B) Silver and Lead
C) Copper and Mercury D) Lead and Mercury
E) Answer not known

Hdraipib Gamp 2 GrsEGaNd a% Fnbs eIl BLHBBET?

A) Qeueital LOHMID AFLDL B) @eueiTai LDDHMILD FUILD
C) SMOTD 1IOHMID UTSHIFLD D) munb 1OHmID ysar
E) ugev asnueaisamen

111.School bells are made of metals because metals are
A) Malleable B) Sonorous
C) Ductile D) Lustrous
E) Answer not known

D GOTBBISET GTATLUDTED LGTaI LDENDH6T ralaIand 2 BeoTBRIGATTD OhaIae

A) SaNHBIDTDIS] B) GFTaITeiv
C) FIHSLD D) LIGTLATILTAIS]
E) udev asmuaicoamen
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1M2. Which one of the following statements about starch and glycogen is correct?
A) Both starch and glycogen are found in plant cells.
B) Both starch and glycogen are found in animal cells.
C) Starch is present in plant cells and Glycogen is present in animal cells.
D) Both starch and glycogen are present in plant cells as well as animal
cells.
E) Answer not known
soLmid wHnnb SmarCsradr ubHpiu Ndramd sbhnimand agl FmnuTaiz?
A) GULMTF MHMID SMaTCHTSHT STAIGLD STAIT FGHaNd HTEIILGSIIDOT.
B) wTaFFSSl 1oHDID SmaiCsTesdr STanGld aivme 2 uiTasseaic ST@IILUGSITDaT.
C) ST 2uiraydselieo cvLTiF 26reng WHMND aleomid 2ulTaydbseliso Haman@sresdr
2 GiTengl.
D) GOLMTF wHmnd SmenGsrsdr STan®GLD STaT eFder WOHNHID alwEI® 6FevsHens0
2 ciTemar.

E) UFBe0 ASH I 060

13. Kwashiorkor, a form of malnutrition, is caused by the deficiency of
A) Minerals B) Vitamins
C) Fats D) Proteins
E) Answer not known

SATafCUNTCHIT, 2L FFH%H SMDUTLIRST QG AIPADTDIH], SGMDUTLLTR aDUGBDBHI

A) SDTLDBIGBEIT B) @I L LO@T®He6T
C) ABTAPLILYFHET D) YT BHBISEIT
E) ugev asnueaisoamen

14. Urea is produced by metabolism of

A) Proteins B) Carbohydrates
C) Lipids D) Both Proteins and
Carbohydrates

E) Answer not known
upifum arenidans WIDMHSHTR 2 MHUHB AFULLILGEDSI
A) LT HBISET B) STTBUTaamL B GoHeir
C) NG o D) YIS BIS6T LOHID
STTCUTamLCILBHeT STadIBLD

E) ugev asnueaidhamen
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15. Which one of the following statements about the process of photosynthesis
is correct?

A) Light energy is directly converted to kinetic energy which oxidizes
carbon dioxide.

B) Light energy is directly converted to chemical energy which causes
reduction of water

C) Chlorophyll absorbs the chemical energy of Llight which causes
oxidation of carbon dioxide.

D) Chlorophyll absorbs light energy which causes splitting of water
molecules and reduction of carbon dioxide.

E) Answer not known

RalFGaisms aFwecoapan ubmiu diapd snbhniseico ez Fiumars?

A) Rail OpHMmed CHIRPWTS Swdhs OHDDEOTS WIDDIUGSDSH, SH STTUGT @@L
OpSMFML OpdHaiesCarHMIBDIHI.

B) QRail OpDHD® CHIPWTS STFTUAT OHDDETS WIDHDHILUGEDSH, SH HI SHDIYSS
STTEILDTSEDHI

C) STIUST DL OpSMFLIRGT DbHABCAIDDIMS ADUBSHID Rafuidt STFTLAT SHDHMENE
&SCammBGamisd 2 MlebadBmHI.

D) SBammBamiev @ail OpHMmMw 2 WebHFBMHI, SFHl BT dpevbInmiBamar HaTUBGHHIBDBHI
HDID STTUST DL OpSMIFMLS SMDBBDBHI.

E) U0 ASH I 06

16. Madras Standard’, an Anglo-Indian paper founded in 1877 and later it was

Indianized by
A) R. Raghunath Ra B) A. Ramachandra lyer
C) G. Subramania lyer D) G. Parameswaran Pillai

E) Answer not known
awrgmev  eoLmaLie', opEdeoT-@biuasr Gunuy 1877 @& sBmienmciLs, ddrant O
SHhBUIDUWLIDTSSBUILCL ] WITTTe0

A) Opll. TSBNSH O B) of. OMDFF BT ST

C) 2f. ssmpeaoiu eunf D) 2f. ugTCeivalTar 1NeTanar

E) ugev asnueaidhamen

17. Who wrote to ‘Periyar’ E.V. Ramasamy about Vaikam Agitation
A) George Joseph B) Madhavan
C) Kelappan D) K.P. Kesava Menon
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E) Answer not known

@abHD CuITTELLD uHnj) ' eaufwng ' m.all.ompemdsas erapSuwiant
A) @mid Gens B) DTS ST
C) A@emLILaT D ) Gx.19.6h5a GLOaTST

E) udev azmuaiecoanso

18. Which one of the following statements is incorrect regarding the south Indian
Rebellion
I In this great struggle the Tamils played the most remarkable role.
Il The rebellion spread over an extensive region from Sholapur in the north
and to Nanguneri in the far south.
M. ‘It was first war of Independence during the 19th Century’ said by K.
Rajayyan.
V. The success of the British in the rebellion enabled them to consolidate
their position in South India.
Choose the Correct Statement
A) I, II, Il are correct B) II, lll, IV are Correct
C) L, I, IV are correct D) AU are correct
E) Answer not known
asaraibius deniddamul uDPu Hdramld APbmabsalen cIg HaDTDIHI
l. &bHd TaUGLlD CUTITELSS® SoipTisaiar umld Wasand SHImILSS5HH].
. Shpd SemiFAunaiyl o s6s  Capreomiyflev S®mHH ASDEH BIRIGEHN T
uralulGbs5I.
il "@z1 19 opb BIHDIGIIRST w0 FHHBATN GuTT" adI Bs. TUBUIIST FnaflarmT .
V. BanfFAuicvo SpBIBCoWTSaNST ADY ASTBiHIWTaID HEIG6T Badwadw 2 NISIUGHD
2 Haligl.
siumar SIjsamsmus BHIHasBHbalD
A) L, 1, l sfwnararen B) I, Wl IV sfwnaranes
C) I, I, IV sfuners: D) OIMISHID FHITSTENaN
E) ugev asnueaidhamen

119. Consider the following statements.
I Self-Respect movement dedicated to the goal of giving non-Brahmins a
sense of pride based on their Dravidianist past
Il The movement denied the superiority of the Backward Class and their
implicit faith in the present system
Which of the statement is Correct?
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B) 2 only
C) Both 1 and 2 D) Neither 1 nor 2

E) Answer not known

Hdrampd APbmssmard SaIaiuBIS6T.
. sunoflumans Subsib 1TMDaT ANOOTSMTBAHHDH Al THalal STTall HLHD BTIHBET
SIPUMLUTD AUBEMID 2 TS ABTGHBLD CHTEBHBDBTH ONTIILEDNGHILLL F.
. &b SwiHsD HUGSSII'L aGuiariar Garmwauubd SHEUT?HSW  Siawinieo
SlaTHailadl aDWps HLDIGMBMUIUILD 1DDISHBHHI
snhmisaico ez Fiumargs?
A) 1 ie@ew B) 2 1o BEID
C) 1 wHmnb 2 Syan®Gib D) 1 orcvevg 2 Seoamev

E) U0 A Huaiecoanso

120. Find the Incorrect Statement
A) Annadurai was the first Chief Minister of Tamil Nadu.
B) V. R. Nedunchezhiyan was the 2nd Chief Minister of Tamil Nadu.
C) A. Subbarayalu Reddiar was the 1st Chief Miniter of Madras Presidency.
D) P S Kumarasamy Raja was the 1st Chief Miniter of Madras Presidency.
E) Answer not known
SADTAT AN HDBMUIS HETL DD
A) ONTMITHINT SINPBHHBHT AWPHe0 AP0,
B) SIOPBHBST 20151 WWHOMNTTS SHHSMT oil.ObT.ABBEHAFUILST .
C) A. sllummugy ATCRPUTT AFSTOET WISTANSSET WHD WHOMIDFFITDG SHHSTT.
D) 1erelv SGOMTFTD TTST AFSHIMOT IDTHTAHBH APHND APHOMIDFFITS SBBHBMIT.

E) usev asmuaicomen

121. Pick the odd one out

I Periyar Frequently wrote columns under the pseudonym of
"Chitrapattiran”.

Il The Justice party merged with the Self Respect movement has rechristened
as Dravidar Kazhakam in 1938

. Singaravelar advocated Buddhism in his early life.

V. First Tamil Isai Conference was held in 1943, to discuss the status of Tamil
music

Choose the correct answer

A) 1 only Incorrect B) 2 only Incorrect
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C) 3 only Incorrect D) 4 only Incorrect
E) Answer not known
@D@DIUDL RTINS CHIbHASBHBaID
. aufwmt " AsTusByar " D YmaTiauuieo OupsHsp uHBBMeT rdpBarmT .
. SUDTNUTDS SUSSHBILST SoHHS BASGLS STmaiLi oar auui spriimis 1938
Sev BPDHID
{R FRSTICT SDH SObIIDU HTOHBV AUMBBHMND ObDHDHBMIT.
V. sifPamsuidr Baew sHESH aandss 194360 wsd s S@s WIBIG HoOLAUDDHSI
Fiwmar alaLaud Caibads®GmIsHe6T
A) 1 @b samrars B) 2 \GIb HIDTIS]
C) 3 G HsamTas D) 4 @b semnars
E) U0 A Huaiecoanso

122. aldoaium'G ubHPu Sy SLib aubpieTer SevdbBunb
A) SOTDTWENG GLDLD B) SDDTVDS GDelehd
C) WHInLD LGTAH D) SITFITFEFIPST 2 o

E) aloL asfualsoamen

123. asmesmniunbd
1. wsarpsads 1882-6 usinisasi QUDDHI
Il WSITPSae0 H.aman.STEISID Hetmenumed uSnisst aubDH

lll. wséawsaid SembyTammed 2@T BB

V. Sdtammu AwmpPuiweranisanmed alubsiuGLD SadbsanoTs alanbIGHSDHI.
Saihmier

A) L I IV & B) I, II, I o

C) L 1, IV &m D) DIMDISBHND i

E) aloL asfualsoamen

124. Name of the committee on Indian banking and financial sector reforms
constituted by the Government of India in 1991 is
A) Suresh Tendulkar Committee B) Committee on Financial Stability
C) Committee on Financial System D) Raja J. Chelliah Committee
E) Answer not known
1991 opb Span® SHIHu ONITFTL SWSGHIULL  SHBu  amd  HnLd BHSHIaMD
FIBHHBRIBAHBBNOT GHpalar Ly

A) &HBIap ALANBOBT HLOLIR B) BB BMSHSIDIDSBTI HAD
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C) B85 SNMIIYSBTAT SHAP D) omesw Ges. QAFEMEWIT GIp

E) udev azmuaiecoanso

125. Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R). Select your answer from the codes given below.
Assertion (A): Goods and services tax (GST) introduced in 2017 in non-
inflationary.
Reason (R): GST system avoids tax-on- tax.
Codes:
A) Both (A) and (R) are true and (R) is the correct explanation for (A).
B) Both (A) and (R) are true, but (R) is not the correct explanation for
(A).
C) Both (A) and (R) is false.
D) (A) is false, but (R) is true.
E) Answer not known
HCY SITING NPSMBDHET ABTHHBLILL BT, ROHTN]  AIOUINISHHED (A) GSIMID LOHADTSIDI
STTEOILD (R) erarmnbd Gevrlafi i Gerengl. S6 ABTGHHUILLBGetan SDUIBGDHaiecv SBHBHI 2 BIBG6T
udmevd CHibHeSBHBAILD.
anHmI (A): uanaissb Soveons Baeulo 2017 S GMwsHUGSSIN'L 51535 WHDID
Granan e (ailsm’m,p).
STTaND eleareivp Sy eufl BSTaT enflans SalibSEDa1.
SDUIGDHaT:
A) (A) wOHILD (R) STSNGLD 2 SEID HMILD (R) eTTLIZI (A)&i&m@n simar afarssib.
B) (A) iHonb (R) STGNGID 2 ATDIDSTE, SHATTED (A) 5& (R) Fiwnar alardbastd
Sevanev.
C) (A) wHmnbd (R) SIaNGLD SADTITMGI.
D) (A) SADTDIBH], OHETTED (R) 2 GIeID.

E) UBD ASHuIalcoans0

126. Match the following:
a. 10th Finance 1. C. Rangarajan
Commission
b. 11th Finance 2. K.C Pant
Commission
c. 12th Finance 3. Vijay L.Kelkar

Commission
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d. 13th Finance 4. A.M.Khusro

Commission

Choose the correct answer using the codes given below:
@ ® @ (@
A) 2 1 4 3
B) 2 4 1 3
C) 4 2 3 1
D) 1 4 2 3
E) Answer not known

HdrabaaraaDl AUTBHBHI

a. 10cu131 B3 Spavasrund 1. A OEIGITEST

b. Moz B35 Opavamund 2. Cad ubhs

c. 12euz1 B8 Opanawrund 3. allesul 6160, BaeobIT
d. 13auz1 B8 Spavavrud 4, oI.6Tb. &6l

HC ABTGHHUILLGeiton GDUIGHMaT! LISTUGSHS FHUTaT UBMDH BHIHABBHBAYLD:
@ ® © @
A)2 1 4 3
B2 4 1 3
Q4 2 3 1
P)1 4 2 3

E) UBD ASHualcoans0

127. Given below are two statements, one labelled so. as Assertion (A) and the
other labelled as Reason (R). Select your answer from the codes given below.
Assertion (A): Budget Deficit financed by printing currency will lead to price
rise.
Reason (R): More goods will be produced in the economy.
Codes:
A) Both (A) and (R) are false.
B) (A) is true, but (R) is not the correct explanation of (A)
C) Both (A) and (R) are true.
D) Both (A) and (R) are true and (R) is the correct explanation of (A)

E) Answer not known
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. BB ABGTGHBILL Beiten GHUIBHalecv SHbGH 2 MBHeT UBMDH CHAHADBDHBAILD.
snOmI (A): BITUSDS NFFHAGAUSST dpeold BRWaANSGSILUGLD ULASILE UDDTSSHDD a6
2 wiabd® anfaldsaib.
STIEOID | QUTHANMSTIHHD ANBH AUTBLDET 2 DHUSHFH AFUILIILIGLD.
SUUIGDHeir:
A) (A) o@D (R) STaNGID SmTaTaDal.
B) (A) D AIENID, DAL (R) eTATUZG] (A) S Fiumar alendosiD S16veD
C) (A) LOHMILD (R) STaNGLD 2 @maiD.
D) (A) ioHmnb (R) STaNGID 2 @reip IHmND (R) ara@Tug] (A) Sdr sfumar allendasib

E) UFBev ASH I

128. Which of the following are the objectives of the SEZ Act, 2005?
1) Generation of additional economy activity
2) Promotion of exports of goods a services

3) Creation of employment

A)1,2and 3 B) 2 and 3 only
C) 1 and 3 only D) More than one of the
above

E) Answer not known
draipaiatamrico aavar SEZ sriib, 200561 eprssmimer?
1) NGBS AUTHAMTSTT BLAMPSMD D (HAITHBLD
2) AUTBLSHET LDHMID CFamaisaldl aDDIDBdW DardhGaldhBHe0

3) CaiamevalTuiliy 2 (HaITdaHLD

A) 1, 2 whHynd 3 B) 2 wHmynb 3 WG
C) 1 whonb 3 wr@EEw D) cuweo oden @dmIse
GLoHULL el

E) ugev asnueaisamen

129. What is the policy measure adopted by the Government of India to improve
the system of agricultural marketing?
A) Minimum Support Price (MSP) B) Maintenance of Buffer Stock
C) Public Distribution System (PDS) D) More than one of the above
E) Answer not known
Calemadt FHhMSUIUGHSD PDdW CLIDUGSD SHIU SNTF Tl ABTATNS [HLAIRHMDD

TBHBIemoNSHI T
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A) SODHBSULF DbDTa] llaeo B) ooty eoLmd LMy

(MSP)
C) aurgkl aIBEWTS SiapLoiiy D) GG dTaT PIIMIHS
(PDS) GLDHULL el

E) udev azmuaiecoanso

130. Which organization carries out the survey determining the poverty line?

A) NSSO B) NITI Aayog
C) RBI D) More than one of the
above

E) Answer not known

aInIMIDs BHTEML BTamuisSD HaoHas®GlmU CLODHEASTETAbBLD G1anLDLiL G[gil?

A) NSSO B) NITI eyewns
C) opinie D) cuwew odar @dmIbe
GLoHULL el

E) ugev azmueaishamen

131. Which of the following States of India received the highest Foreign Direct
Investment (FDI) equity flow during April to September 2022?

A) Karnataka B) Tripura
C) Gujarat D) More than one of the
above

E) Answer not known
2022 giméd wpae asnLbut amIuiconar sTesBo, ShHIATAST abds WIBoD G1Bs GUBBIL

GBI apHeSIaLIl (FDl) mHALIR o oliBarTanal AuDHIGTETSI?

A) SIBTLBIT B) Sifgmm
C) SBIMDH D) GG 2dTaT  PIIMIHSH
GLDLILL e

E) UFBev A Hualcoanso

132. Which of the following Five-Year Plans was focussed on Human Resource

Development?
A) First B) Third
C) Fifth D) More than one of the

above
E) Answer not known

Hadraipld RHSTANGS SI'LBIGaN0 1%l Wal® alem GLDIDUTL IR BHealarb a&@@gﬂmg?
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B) ApSTDTaNI

D) GG DeTmT  RIIMIGS

GLoDLILL e
E) udev azmuaiecoanso
133. Match List-1 with List-II:
List-I List-II
a. Grey Revolution 1. Onion production
b.  Pink Revolution 2. Tomato and meat production
c.  Silver Revolution 3.  Production of eggs
d. Red Revolution 4.  Fertilizers

Choose the correct answer using the codes given below:
@ ) © (@
A) 4 1 3 2
B) 3 1 4 2
C) 1 4 2 3
D) More than one of the above
E) Answer not known

uipweo-l 21 a@r uepwe-ll 21 6r aunmssanb:

upuweo-| upuweo-ll
a. Fmbue® Yy 1. QaIBIBTUILD 2 DS

Sarehdauiy Y s 2. Sobosmail HMID SnFd 2 DusH3
C. QaueiTenil LI d 3. YroL 2 Husbs
d. ey yma 4. 2 IMRIG6IT

G ABTGHBUIULGeTon GHUIGHMaT UUISTUGSS FRUTaT UBMeDH CHIHABBHBLD:
@ 6 ©
A4 1 3 2
B)3 1 4 2
g1 4 2 3
D) GG 26T RABIMISS GLOHUL L@

E) U ASHuIalecoanso

134. Select the correct statements regarding the inscriptions of Ashoka:
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. They are in Brahmi, Kharosthi, Greek and Aramaic scripts.
. The Monarch's name was mentioned as Ashoka only in Maski and
Gurjara inscriptions.
lll. The XIll Rock edict mentioned the names of the five Greek Rulers as
his contemporaries.
IV. The IV and V edicts mentioned the war of succession with his brothers.
A) 1, Il and Il only B) II, lll and IV only
C) I, Il and IV only D) I, Il and IV only
E) Answer not known
SNIBFTHNGT HevaaGsaanl uDDw FHuTar SInjbamssmeard BHIHEDBHBOLD:
l. Siawan ITmS, HBITevE, BCIHHID ODHMID AMTMOS erIpHHIHBDHalev 2 eTaTar.
1l SIS QuuIT IEvd WOHMID GTSBIT S GHaied WIGED DICFTIHT erdImI
SO Gerangl.

L. Xl opmamr G1as sFibsTRSSMTHET Tar @b BEIHS b ATaTTSalET AUUITHMoTS

SonirL gi.
V. IV oognd V opmanser dens sCsnsaisasLar emmflad Gutagd soiiniGaaimar.
A) I, Il wiynbd 1l weGeEw B) I, Il whHmnd IV we@nd
C) I, Il wihpnd IV weeb D) I, Il wHmnb IV wr@ib

E) ugev asniueaisamen

135. Arrange the following temples of Ellora in chronological order according to
their time of construction:
. Ravan ki Khai
ll. Kailasanatha
lll. Dashavatara
IV. Dumar Lena
Choose the correct answer using the codes given below:
Al Iv, i, | B) L L, 1V, I
v, D) I, 1v, 1, 1
E) Answer not known
areoBeonnmaiar Hdraumld Cosmulcosmenr SlUDNGT SLUGTDT STEOSBNG aDU  BTOMTEFIILILY
OIMDHBHALD:
l. OTIST & SHmul
". MNBHOTFHITDH
. serastmb
V. SIDT ebarm
HCp ABTGHBIULGeTon GHUIGHMaTl LUSTUGSS FRuTaT UBMevd CHIHABBHBAD:
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Al Iv, i, | B) I I, 1V, II

v, D) I, 1V, 1, 1

E) useo asmuaicoamen

136. Match the following revenue officials during the reign of Akbar with their

duties:

a. Amalguzar 1. Kept records of the revenue
payable by the villages

b. Karkuns 2.  Revenue Collector in-charge of
a District

¢.  Quanungo 3.  Accountant

d.  Bitikchi 4. Prepared the seasonal crop
statistics

Choose the correct answer using the codes given below:
@ 6 (© (@
A) 2 4 1 3
B) 2 4 3 1
C) 4 2 1 3
D) 3 1 4 2
E) Answer not known

NGUfaT Oprrdd HTVHBHev HAABID ANBATUISBHIDD NBHTHBDMNT NATHANHI BLEDLDEHEHL ST

AUTBSHSYLD:

a. SNDOGIFTT 1. Srmomiser AFXHD
Cauaripwl AIBGATUI GBS
UBQBDAT DD BHITATDIT

b. asmicdrev 2. 2% wran'L53H&
QuUTMIILTaT QIBaITUl
Oprduny

C. GATYIRICHT 3. sandsrent

d. pssa 4. umaimsew 1Al §
LeiTer @l euImBeIgban e
SIS ST

SHC ABTGHHUILLGelton GDUIGHMaTl LISTUGSHS FHuTar uBmed BHIHABBHBAD:
@ ® © @
A)2 4 1 3
B2 4 3 1
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2 1 3
1 4 2
E) udeo asmuaicoamen

137. Match the following books with their authors:
a. India at the Death of 1. Irfan Habib

Akbar

b. The Agrarian System of 2. Fransois Bernier
Mughal India, 1556-
1707

c Travels in the Mogul 3. William Foster
Empire: AD 1656-1668

d. Early Travels in India, 4. Moreland
1583-1619

Choose the correct answer using the codes given below:
@ & (@ (@
A) 4 3 2 1
B) 3 1 4 2
C) 4 1 2 3
D) 2 4 3 1
E) Answer not known
Hara®mld USHSBEIGMT DG OpFANUTSABLET AUTHHSOILD:

a. @buidr wransdeo ShBur 1. Sfundr amiii

b. APBHEOTUL ShBumalar 2. Homarsam QuTeafut
alausmn ooy, 1556-
1707

C. AILDT&H6D Guimddr 3. aflcoald o oLimeivLIY
vwansiser: #Sa9 1656-
1668
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d. ShFBumaied @pmbusmeo 4. @GIomTGevaI
vwansiser, 1583-1619

6 ABGTGHBUIULGeton GHUIGsMaTl LISTUGSS FHuTaT UBMeDH CHIHABBHBAYLD:
@ 6 © @

A)4 3 2

BY3 1 4

Q)4 1 2

D)2 4 3

E) UFBe0 ASH I 060

138. Match the following with the year they were formulated:
a. Famine code 1. 1881
b. Vernacular Press Act 2. 1878

C. Charles Wood's 3. 1883
Despatch on
Education

d. 1%t Factory Act 4. 1854

Choose the correct answer using the codes given below:
@ & (© (@
A)3 4 2 1
B) 1 2 4 3
C) 4 3 1 2
D) 3 2 4 1
E) Answer not known
Hadramalaraban ddal 2 HATHSULLL OLb@NELTIG AUTHSSILD:
a. udsr UG 1. 1881
b. aLawry usdi;as s 2. 1878

C. Fueveiv  @pdr  seval 3. 1883

uHl AL eoUMLEF
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d 1*asmpbsmad seub 4. 1854

6 ABGTGSHBUIULGeTon GHUIGsMaT LUISTUGSS FHuTaT UMD CHIHABBHBAYLD:
@ ® © @

A)3 4 2

BY1T 2 4

Q4 3 1

D)3 2 4

E) UFBe0 ASH I 060

1
3
2
1

139. At the Calcutta Session of the Indian National Congress (INC) held in 1906,
the Flag of Swaraj for India was unfurled by

A) A. O. Hume B) Dadabhai Naoroji
C) G. K. Gokhale D) More than one of the
above

E) Answer not known
1906 @ poaLaubn SbHsu Bxsu sTEBTr (lNC) HOBSHBT ONDTaled, BHBUTHBTOT

GVAITTES AGTIREW DI,

A) AO anflugib B) STSmuTUl Aben@rmes
C) 29.6%.CHTEHBov D) GG et PIIMIHS
GLDLILL e

E) UFev S Hualecoanso

140. During the freedom struggle, a parallel movement launched in the Indian
States (in the States ruled by the Indian rulers such as Kashmir, Nizam's
Hyderabad, Travancore, etc.) was

A) State People's B) Praja Mandal Movement
Movement
C) Swaraj Movement D) More than one of the
above
E) Answer not known
FEbATN  CunmLSBdT  Gungml, ShBu  wiBemsaie  (svapbi, Bemdd  @apsmTuT,

BHaAASTEIFAT CUTSTD SHBUW OHLIFUTENTHNTD DTl L lDI'I'ﬁGDI‘IiI&@'ﬂGi)) RBb SHaT SUWSHBLD

ASTLIBISLILLL Sl
A) IDTBe0 1DdBH6T SuibsLD B) 10esT 1DEavIL6D SuidbBHID
C) oIS SulbasLb D) GG 2 dTam RDIMIHS CLoDLLL M
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E) udeo asmuaicoamen

141. Which of the following statements regarding the Indian freedom struggle is
not correct?
A) Gandhiji withdrew from the Non- Cooperation Movement due to the
Chauri-Chaura Incident.
B) Gandhiji gave his first major public speech at Banaras Hindu University.
C) Mahatma Gandhi was arrested in the year 1921.
D) More than one of the above
E) Answer not known
SbAu HHHAT CuTTTE LD ASTLTunTar dtaplb snbmisaico ez Fiueoe?
A) aFand QFTIT FIDUMSBTeO HMHHS RHBHIMPUTMID SWidHBDHB0HHBHI 0BT
B) sMbded SaIH WS AUl AUITH D @TMU UDMIGD SbHH LOHMDBBLPSHDH D60
BoHLDH BT,
C) DSTSHIDT HMb3 19210u1b Opan® MBSH AFUIIILILC LT,
D) GGe 2 dTen RDIMIHS GLODLILL M6

E) uséd asmuaicomen

142. In which of the following battles are the main opponents not correctly stated?

A) First Battle of Panipat-Babur and lbrahim Lodi
B) Second Battle of Panipat-Tipu Sultan and Marathas
C) Battle of Haldighati-Maharana Pratap and Akbar
D) More than one of the above
E) Answer not known

Hdraipib absin Guiiseico whdu adisdr sfursds GUIMILI_aldamen?
A) WSO uTaiuL -umuy wHmnnbd Signéb Geomp Gumy
B) SraprLTaigl uraiul GumT - iy &HEOSTET WOHMID LDITLIPUILD
C) amevdsmp GurT -wanmymau 1ISmi WwHmID SsLT
D) GG 2 eiTen PAHIMIBS GLODLILL aen

E) usev asmuaicomeo

143. In 1940, Vinoba Bhave started individual Satyagraha from
A) Nadiad in Kheda district, Gujarat  B) Pavnar, Maharashtra
C) Punnapra-Vayalar, Kerala D) More than one of the above
E) Answer not known

1940 @, aiCarmunr uTBar SaiBUT FHBSUTSTBESMBH ABTLBIBOIT
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A) SBINHBHN QABLT IDTAILLHHND D 6irer B) UMY , IDSNTTE@RIRTT

[BITpUIMLE
C) ydtanimm-anueony , Bayenm D) GG 2 GiTem PAHTMIHS GLDDLILL e
E) udev azmuaiecoanso

144.

The Congress took a critical stand over the Montford Reforms in 1918, which

led to break up with the old moderate remnants (Sapru, Jayakar and Chintamani)
who formed the

A) Servants of India Society B) Swaraj Party
9] Indian National Liberal D) More than one of the above
Federation

E) Answer not known

1918 @ wredn'c’sCunit® EiBmessmsen BaH1 STRBIHND QB WHBUIDTAT BAOULTLOL TBHBH3,
S5 udpW LHBHMITH 6IFFRISDeT ( Fl® , ABWST OOHMILD tﬁ,l'bg.rrwanﬂ) 2 HAUTHBUWZHI.
A) SbHBU FRIGHBOT LIEDNLITETTH6T B) oIS HL'A
C) ShIHu BxF uTed Fni'L anipiiL
E) ugev azmueishamen

D) GG 2 dTam RDIMIHS CLODLILL Mol

145. The Cabinet Mission was sent to India for which of the following?
1) To establish a national government

2) To work out a constitutional arrangement for the transfer of power
3) To work out the details of Jinnah's demand for Pakistan

A) 1 only B) 2 only
C) 3 only D) More than one of the
above

E) Answer not known
Hdraipaaramhie ashsts Cslan: Wapdr ShSurelnDe Gy g ?
1) GxpA SNFTRIG NS Bnieu BaadIGLD
2) ONBHMNSHMS LIDNINSDBTAT NTFUIGDAIIDLIL FDUTLML 2 (HeITHSHH60

3) urdBevsTalssTar edrarmaiadr Carisamauiadr allaIIBIBmaT 2 HMTHb

A) 1 L BRI B) 2 IH MGIET
C) 3 wr@ew D) cweo oden @dmISe
@GLoDHUL’L el

E) UFBev S Hualcoanso
146. Match the following Presidents of Indian National Congress with their
meetings:
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a. Dadabhai 1. Madras-1887
Naoroji

b. Badruddin 2. Bombay-1889
Tyabji

c. George Yule 3. Allahabad-1888

d. William 4. Calcutta-1886
Wedderburn

Choose the correct answer using the codes given below:
@ ® © @
A) 4 3 1 2
B) 3 2 4 1
C) 4 1 3 2
D) 2 1 3 4
E) Answer not known

SbFu Cxa sTEISTaNET HdTaIBID SamcvalTsmear AlaTsHaldn dnl L BISABLOT AUTHHBHILD:

a. SISTUTUI AbemGrmed 1. awrgrev-1887
b. usmSar Sumned 2. umbumii-1889

C. eamies uy,6o 3. Sewsmurs;-1888
d. alcvallund aeuLuiar 4. soass1-1886

B ABTGHBUIULGeTon GOUIGHMaT LUISIUGSS FRUTaT UBMeDH CHIHABBHBILD:
@ ® © @
A)4a 3 1 2
BY3 2 4 1
Qg4 1 3 2
PD)2 1 3 4

E) U0 ASH I 060

147. Match the following newspapers with the persons associated with them:

a. Indian Sociologist 1. Virendra Chattopadhyay
b. Islamic Fraternity 2, Shyamiji Krishna Varma
c The Talwar 3. Muhammad Barkatullah
d. Swadesh Sevak 4. G.D. Kumar

Choose the correct answer using the codes given below:
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(k) (9 (d)

3 1 4
3 2 1
4 1 3
2 3 4

E) Answer not known

Hadra®mld AFUIBHBHTHBMOT ANNTHABLOST ASTLIYMLW BHUTHAHLST AUTHHSLD:

a. @b 1. diembsr srrGLrunduml
FapBHUIGOTETT

b. @eveomsu 2. afumbed Smapawt euiom
FEBIBTHSHlIMLD

C. SeoaumT 3. wamibg uisssicoeran

d. &Gz Grad 4. eap.omy

HC ABTGHHUILLGeiton SGDUIGHMaTl LISTUGSHS FHuTaT uBmed BHIHABBHBALD:
@ ® © @

A2 3 1

B)4 3 2

Q2 4 1

D)1 2 3

E) U0 AST I 06V

Hh W = b

148. Which of the following institutions were not established during the Non-
Cooperation Movement?
. Besant Theosophical College, Madanapalle
Il. Jamia Millia Islamia, Delhi
lll. Kashi Vidyapith, Benaras
IV.  Aligarh Muslim University, Aligarh
Choose the correct answer using the codes given below:
A) I and Il only B) Il and il only
C) Il and IV only D) I and IV only
E) Answer not known
REBIDPUTMID SUSHHSHT CUTHI SPeHBEIL BoIaIdEIGaNd a5l BniemiuLalomen?
l. QuFa: FEwnFmiseo Heoamd, LSariiLeTer
1. amdwur Wvellum Seaveomuium, 6Levead
. sra aiswmis, auarmmev
V. SMNBMT apaivedid LLBMBBLPBID, AMOBTT
HCp ABTGHBIULGeTon GHUIGHMaTl LUSTUGSS FRuTaT UBMevd CHIHABBHBAD:
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A) | whond Il we@b B) Il wHmynd ll we@ew
C) ll wHynd IV r@ew D) | wHmnbd IV ie@eEw
E) useo asmuaicoamen

149. Which of the following laboratories claimed a historic nuclear fusion
breakthrough in December 2022?
A) Lawrence Livermore B) Oak Ridge National

National Laboratory Laboratory
C) Los Alamos National D) More than one of the
Laboratory above

E) Answer not known
Hdramd abs opuiamsd psbui 2022 @& ameanby SIgEE®H Sdae) WPHCIIDDSMBH
(Sairr_rﬂu.lg?

A) congarev  aemTCGomT G B) @d Mird Gadlu Opulensld

OpbUIIBLD

C) @mev  SlewBmev  BxpA D) GG 2dTaT  PIIMIHSH

OpUIIBLD @MU el

E) U0 AFHuaiecoanso

150. Which of the following is Collins Dictionary's word of the year 20227

A) Permacrisis B) Carolean
C) Lawfare D) More than one of the
above

E) Answer not known
Hdraipaaramrieo sredaren owrmduiar 2022 opb Opampdr asme am?
A) AUITLDT S 60 B) & BImevluIet
C) FrLLD D) GG 2 éiTem RBIMIHS CLODHLILL el

E) UFB ASHualcoanso

151. Which of the following countries, along with Senegal, launched the
International Drought Resilience Alliance during COP27?

A) ltaly B) Germany
C) Spain D) More than one of the
above

E) Answer not known
Hdramd BIGsalie abs BTG, asasalar Soanbs, COP27 @dar eunsm siatss amrd
STRIGLD Fni'Lafau @lgﬁ@asﬁu@&ﬁmgu?
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B) aexiwai
C) cvauudr D) cGuwew odian @dmIbe
GLoDLILL e

E) udev azmuaiecoanso

152. The Embassy of which country applied for a Gl Tag for 'Nihonshu' for the

first time in India?

A) China B) Japan
C) South Korea D) More than one of the
above

E) Answer not known
ShHuneico WHSHWDOUTS abd BILRST ZIBIHD @ BCannaiap aibe Gl sFasTomIse

alanannisss ?

A) Farm B) aImear
C) QBT QGBI D) GG DTN  RPDIMISBD
GLDLILL e

E) ugev azmueishamen

153.  Which of the following space following space agencies announced that it had
successfully used steam to propel its EQUULEUS spacecraft?

A) NASA B) SUPARCO
C) JAXA D) More than one of the
above

E) Answer not known
Hdraipb alanaael aamaidsais abs alanmaaed Bpeand saiz EQUULEUS alansasas

AFUSSINGDS AaDFGTOTS BITalawl LUGTUGSSUSTS ADalH53517

A) BTEFT B) SIUTBHT
C) BUBFT D) GG DeTaT PIIMIHS
GLDLIL’L e

E) ugev asnueaidhamen

154. Consider the following statements with reference to the Prevention of Money
Laundering Act, 2002:
. The Act empowers authorities like the Director to attach property

believed to be "proceeds of crime".
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Il. Offences under Part A of the Schedule deal with trans-border crimes
and reflect the dedication to tackle money laundering across the global
boundaries.

lll. The Act and the Rules notified thereunder came into force with effect
from 2005.

IV. The Act has provided for an Appellate Tribunal and Special Court to
conduct the trial of the offences of money laundering.
Which of the statements given above are correct?
A) 1, Il and il only B) I, il and IV only
C) I, I and IV only D) L I, Il and IV
E) Answer not known
uanrGwnse 5eiys srub, 2002 asmjurar Hdam SIsdssmanTs SaaiLBISET:

l. "@Dnm aipwrand” adIYI BIOWILGID AFTSMS UDWPSD AFUIL SusGaTT GUTSTD
NBHTNBaHHS FLLID ANBHTID SellbBmIHI.

. owLamanmisr ussd A Sdr S 2edtear GHDEGET, GTOMED STAMPU SDHDEIGET
ODID 2D ETOMBHAND LUMIGLTFP QAFUIMMS FIOTANIUSDSTIN  ANTILAIDL
HrsusisBaTmar.

L. LD wHpnb Sar S1p SfeissiucL aidser 2005 wso GBS arbssi.

V. FLLIDTOIZ] UATGLTFIP GDDEISMaT alFnids Cosoparmuir® Sitiumund wHmnbd Amiiy
BSLIDSBDS anfams aFuiBleTengl.
GG AGTRHSILLL sndmisaieo ozl Fiunmargs?
A) I, Il b 1l weGeEw B) I, Il whynd IV @b
C) I, M wihHpub 1V we@b D) I, I, Il wipnb IV
E) ugev asnueaisoamen

155. Consider the following statements with reference to Vande Bharat Express:
. It is semi-high speed electric multiple unit train operated by Indian
Railways.
. The first Vande Bharat train was manufactured by Integral Coach
Factory, Chennai.
lll. It can achieve maximum speed of 250 kmph. reducing journey time.
IV. It was previously known as Train 18.
Which of the statements given above are correct?
A) 1, Il and Il only B) I, Il and IV only
C) L, Il and IV only D) Ii, Il and IV only
E) Answer not known
abBs unns erdbeviizeiv ASTLIUTOT HdTa®BID DINbmBBMeand HalaiuBIH6T
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l. 83 @b TuivCanumed SwHSIUGLD IAMT-ANFCaS WSIFIT U S Tuicd ObSLD.

Il PH0 b6 UTTH Tuicd AFSTaT SaTLSTe0 BHTF BUBLIWTED SWMHHSILIL SI.

. e owsmsions waises 250 H1b Cassms ar'@Gib. Luwan CHIS®S SGMNEEDZI.
V. &z apary quisd 18 erarm SevpssinncL si.
GG AGTRHSILLL sndmIsaico ezl Fiunrargs?

A) I, Il wihynbd Il weGeEw B) I, Il whynd IV @b

C) L Il whyud IV @b D) I, Il wiHpub IV wreb

E) useo asmuaicoaen

156. Consider the following statements about "Vikram-S":
. It is India's first privately built rocket.
Il. Itis a single stage suborbital space launch vehicle.
lll. The mission for the rocket launch has been named as "Prarambh",
meaning beginning.
IV. It was developed by space tech startup Agnikul Cosmos.
Which of the statements given above are correct?
A) 1, Il and Il only B) I, il and IV only
C) I, Il and IV only D) AU of the above
E) Answer not known
"alsmb-ereiv” uHBI STAIBID AN EDBBMaND SaIBNUIEIGET:
. 83 SHIWTANST WS SONUMTTeO SWMHBBUIULL TTHABL. DbGLD.
Il 83 DD B SHIMam alamelaial aa] AITSND SpbdLb.
1. Wombin " @Il QUL GTaTSHl , DNSTAFH OHILDLILD.
V. ONBDNBHD SHTEVBLDTED elpevlD 2 HATHSLILILL S .
GG AGTEHSIULL sndmisaieo argl Fiumargs?
A) I, Il wiHoub Nl wr@ew B) I, ll wipub IV wren
C) I, M wihmub IV @b D) ewee odren Gewarsznb
E) usevr asmuaicoamen

157. Recently, the Prime Minister of India led to tributes to freedom fighter Velu
Nachiyar on her 292nd birth anniversary.
With reference to Rani Velu Nachiyar. which of the following statements
is/are correct?
. She was the first queen to wage a war against the East India Company.
Il. She formed an alliance with Tipu Sultan against the British in 1780.

Select the correct answer using the code given below:
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B) Il only
C) Both I and I D) Neither I nor I

E) Answer not known

Fshusb B0, SbHBunl WIsT HHHBTI CuITTEL aini Camiab® DebFa) AFQISBOIMT HIFFAmy
Oaiseiar 292z nbsHT6TL.
Gaigialar GpiyLaT BrFAUTT . Hdramd snDHnisaico era eﬂﬂu.lrmngu/ Fmumars?
l. BWeB b SbaUaib® aBITs CUTT ASTHSD WpHed TTaoH Salr.
Il 17806 opmBCammBSS asims Sy FOSTAILST Fnl’L @0l ANMIDSBMT .
SHCIp ABTGHBIULGeTon GOUTLOLL LSTUGSS FHuTaT uBaded CHIbHeSBHBLD:
A) BT DL BLD B) Il @b
C) | ihond Il srandib D) | osveog Il Bsoamen
E) U0 A Huaiecoanso

158. Identify the names of Ramon Magsaysay 2022 Awardees from the following:
.  Sotheara Chhim
Il. Bernadette J. Madrid
lll. Tan Soo Heong
IV.  Gary Bencheghib
V. Tadashi Hattori
A) LI, 1V and V B) L, I, IV and V
C) LI, and IV D) AU of the above
E) Answer not known
gmpar 1056565 2022 aima aubparisaisr auuismer HaTaIbaATADY® SHHH ML ITarbd
SHTETQLD:
l. CanBxsam Fub
1l auiarmaL Ges. wmme
lil. L& & amGuInms
V. Cah AUEhAFBI
V. SLTaf amrGLmH
A) L I, IV wHpnd V B) I, L, IV wiHpnb V
C) L, 1, I wHod IV D) GG 2 ciTam AIMAIBHILD
E) ugev asnueaidhamen

159. Consider the following statements with 102. 55 references to Conference of
Parties (COP27):
. COP27 was held in Sharm el-Sheikh, Egypt.
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Il. COP27 reiterated the goal set by the Paris Agreement at COP21 which
was to keep global warming from rising more than 1-5 degrees Celsius
from the 2000s.

ll. The previous Conference of Parties. (COP26) was held in Glasgow,
Scotland.

IV. COP27 reached agreement to provide "loss and damage" funding for

vulnerable countries hit hard by climate disasters.
Which of the statements given above are correct?
A) 1, Il and il only B) I, il and IV only
C) I, I and IV only D) None of the above
E) Answer not known
102 2161 Hd@raumd MNfGmssmans GaaluIEIBEr, UGMBME IHTG (COP27) ubiu 55
SDIIYBET:
. COP27 adnsar apib eréo-GapdbHev HavLAUDDSI.
1l 2000 sais S®HHH Yal CILILILDEL @60 1-5 pdi aseduatse G&® 2 wTmDe
seug COP21 @s umev @iubssddr apeob Biamissims Sasams COP27
G aielumiSSus.
lil. sSLrasaian whmsw IHIG. (COP26) susTNbHFBa1 BenmevBsmaisd BaLAUDDISI.
V. STOBMe0 BUTP@IHTL HFBMOWTS UTSHSUILLBG6TaT UTBEHSULLHInIPUl BTBHAHDHSH
"@winy wHpnbd s BHmw anpris COP27 21 dumean encipuig.
GG AGTBHHIULL FaDnIGais agl FhuTaiz?
A) I, Il b 1l weGeEw B) I, Il whgnd IV @b
C) I, Il whHoud IV weed D) GG aZiab Sevamnev
E) ugev asnueaisoamen

160. Which of the following has been added to the UNESCO World Heritage List
in 20227
A) Astronomical B) Mahabodhi  Temple
Observatory at the Langat Complex at Bodh Gaya
Singh College
C) Archaeological Site of D) More than one of the
Nalanda Mahavihara at above
Nalanda
E) Answer not known

draipaaramiico ags 2022 @d waarsvBst 26ms urmbuiu urpweis GFibsieGeatorgl?
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A) OMmISTS Fml HeoyTmuled 2 6itam amafueo B) CuTSsWTaled 2 eitar IDSTEUTE Gomuled
OpUIBInL LD QIGMT&HLD

C) BTenbSTalleo 2 Gitam BHBT D) GG 2 dTam RDIMIHS CLoDHLLL Mo
WSTAADTTHBOHT ASTOAUTHET HETLD

E) udev azmuaiecoanso

161. Which States of India have common border with Myanmar?

A) Arunachal Pradesh, Nagaland, Manipur, Mizoram
B) Arunachal Pradesh, Assam, Manipur, Mizoram
C) Manipur, Mizoram, Nagaland, Tripura
D) More than one of the above
E) Answer not known
ShAuTaldr abd 1DNBEEIBET WUTSTIDBLST AUTSIITAT CTE0ENEAILIS ABTANBTATET 2
A) OIpanmFFer NTCHFID, BTHTMHHI, WaALT, WEFTILD
B) SIBHaTTFFer HICHFID, SFMbD, Lawiiy,T, WeFTILD
C) ey, WGFTILD, HrsTeonbSl, SLTT
D) GG 2 dTen RDIMIBS GLODLILL M6

E) UFBe0 ASH I 060

162. Which one of the following is the world's richest region from a marine

163.

biodiversity perspective, comprising 21 islands with estuaries, beaches, forests of
the nearshore environment, seagrasses, coral reefs, salt marshes and mangroves?

A) Gulf of Mannar B) Nanda Devi Biosphere

Biosphere Reserve Reserve

C) Sunderbans Biosphere D) More than one of the

Reserve above

E) Answer not known
BLEOTT udguil] SaMCIITLLSBd Deddr s aemomar UGS asl, SBo 21 Saser,
SDTCWNTIRISHEHT, SLDBMTH6T, INBBXYTAT STBHET, SLDUBBDHET, LIMILUTMDSHET, 211 FHINLY
BEUBIGET IDHMILD FSHINY BEOTBIBET D ciTomar 2

A) STaImT aam&LT 2 ulisCsmeand B) BhasT Chal 2ulifsCsmard STUUSLD

SIIUBLD

C) SbsTudren 2ulfsBsmend STIUSLD D) GBew 2 éTem RAIMIBS CLODHLILL e

E) UFBev S Hualcoanso

Match the following (Sex Ratio):
List-1 List Il
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a) Puducherry 1. 993
b) Tamil Nadu 2. 1037
¢) Lakshadweep 3. 996
d) Andhra Pradesh 4. 946

Choose the correct answer using the codes given below:
@ ® @ @
A)1 2 4 3
B) 2 1 4
C) 2 3 4
D) 1 2 3

E) Answer not known

h =

HdrapaaramaDl AUTHSSHI (urmﬂen @ﬂeﬂgsli)):

upueo-| e
a) U156 1. 993
b) SONDBTG 2. 1037
C) LFHSa) 3. 996
d) OpbIMi 1ITEsHFID 4., 946

HCp AGTGHBUIULGeTon GOUIGHMaT LUSTUGSS FHUTaT UBMeDH CHIHABBHBAYLD:
@) ® © @
AT 2 4 3
B)2 1 4
Q2 3 4
D)1 2 3
E) used asmuaicomen

h = w

164. Match the following Coal-based Thermal Power stations and their states:

List-I List 1l
(Thermal Power Station) (State)
a) Kudgi 1. Chhattisgarh
b) Kahalgaon 2. Karnataka
¢) Sipat 3. UP
d) Dadri 4. Bihar

Choose the correct answer using the codes given below:
@ ® © (@
A)1 2 3 4
B) 2 4 1 3
C) 4 2 3 1
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4 3 1

E) Answer not known

Hadraumd Beodsy SupliuaLuioTar Gared 1WET BaeoWBISMaTuD SaMNEr LDM3eomnBIGamanuiLd

AUTBHSSYLD:
upuweo-| e
(@l@n@b war Llﬂammuli)) (mmﬁ@mb)
a) ovs 1. ssdevei
b) HADOBTEST 2. simBILST
C) dume 3. 2.4
d) Sud 4. Ssmy

HC ABTGHHUILLGeiton SGDUIGSMeaTl LISTUGSHS FHuTaT UBMdD BHIHABBHBALD:
@ ® © @
AT 2 3 4
B2 4 1 3
Q4 2 3 1
D)2 4 3 1
E) uséd asmuaicomen

165. Match the followin:
Methods of Agricultural Geographer
Agricultural Regionalisation
a) Crop combination 1. Weaver, Doi
2. Bhatia, Jasbir Singh
¢) Crop concentration 3. Chisholm, Bhatia
d) Agricultural 4. Kendall, Majid Husain,
productivity Jasbir Singh

b) Crop Diversification

Choose the correct answer using the codes given below:

@ () (9 (d

A3 2 4 1
B) 1 2 3 4
Q3 2 1 4
D) 1 2 4 3
E) Answer not known
HdraipaaraHaDl AUTHBSH
Gauemmaint Lalulweomenmiar PMMBET

allanFmu 1TnHaBuNnbuNDTSHSHD
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a) T Bevanal 1. aien¥, GLmUl

b) ull UOAMBILBSHBH60 2. umpum, el B

C) wiT asa) 3. &GapmevlD, LML IPUIT

d) alanFmu 2 HusSBHBDET 4. azamev, wels avasdr, el
il 5]

HCp ABGTGSHBUIULGeTon GOUIGHMaT LUISTUGSS FHUTaT UBMeDH CHIHABBHBAYLD:
@) ® © @
A3 2 4 1
BT 2 3 4
g3 2 1 4
D)1 2 4 3
E) usev asmuaicomeo

166. Which of the following factors are responsible for the higher Sugarcane
production in tropical regions as compared to sub-tropical regions of India?
. Cool nights with clear skies
Il. Latitudinal position
lll. Long hours of sunshine
IV. High temperature disparity
Choose the correct answer using the codes given below:
A) I and Il only B) I, Il and il only
C) I, Il and IV only D) I, Il and IV only
E) Answer not known
SHBUTAST FHID@T AQIUE@TLN UGSHABLGT RUIGILELTS AIILLGTIL I ugSsaisd B
S®IDY 2DUSHES Hatenmid STTaiseaico erg SmTammnb?
. AT UTDISHBHILST Fnlpul Gaill STa|B6r
. onserms Bae
.  Bam emmbd awiu el
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V. 2T aaniuBamer CaimuT®
HC ABGTGHBUIULGeTon GHUIGsMaT LISTUGSS FHuTaT UMD CHIHABBHBAYLD:
A) | ibhond Il we@b B) I, I wHond Nl we@Ew

C) I, Il wipnb IV wrend D) I, Il wiHmnb IV wr@ib

E) udev azmuaiecoanso

167. Which of the following Southern States shares boundaries with maximum
number of Indian States?
A) Telangana B) Karnataka
C) Andhra Pradesh D) Tamil Nadu
E) Answer not known

Hdra®mBld AFHST IIBmIGND a5 DNBHULF SHSUW IDIHBOBIBAHLOI MBI LBIHHI

asmardma?
A) CBRABIHTAIT B) SABTLBT
C) opibmi inGsFb D) swipmn®

E) ugev azmueaishamen

168. Which of the following are a result of depositional activity of the Himalayan
rivers?
l.  River Terraces
Il. Braided Channels
lll. Alluvial Fans
IV. National Levees
Choose the correct answer using the codes given below:
A) I and Il only B) Il, lll and IV only
C) I, Il and il only D) I I, il and IV
E) Answer not known
HdraipaiaTabifico 6s1 SuIbae BHsaldr Upa) AFuIGOUTLIRST alaaraITaib?
l. 53 GIDTLEIL LDTIPHEIT
. OdenmmL Grardvssr
il QDTG LdTaldnfseir
IV. esdau aSeieiv
SHC ABTGHHUILLGeiton GDUIGHMaTl LISTUGSHS FHumar uBmed BHIHABBHBAD:
A) | woHmnd Il @b B) I, Il whoud IV we@nd
C) L, Il whmub Il @b D) I, I, Il wiHpnb IV
E) udev asmuaicoamen
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169. Andhra Pradesh is the sole producer of

A) Barytes B) Apatite

C) Iron ore D) Granite

E) Answer not known

OpbIII HTEHFID IGEW 2 HUSHSH AFUIBDIHI

A) GuanT6iv B) SIUTEDLL
C) SmIby SNl D) BITEOOIL

E) useo asmuaicoaen

170. According to the Indian Forest Act, 1927, which of the following is the most
appropriate sequence which shows the degree of protection between different
forest types?

A) Reserved Forest > Protected Forest > Village Forest
B) Protected Forest > Reserved Forest > Village Forest
C) Reserved Forest > Village Forest > Protected Forest
D) Village Forest > Protected Forest > Reserved Forest
E) Answer not known
&b aans b, 192761 up, udBain o mGHabH® SmLGu 2 drer UTSISTINGT Slenaals
SMGID WHab AUTBHBHIDTAT QIHaNa Grgu?
A) RBSHGIULL STG > UTHSTSSIULL TG > SImMD TG
B) UTHISTSSIULL ST > RFJISHIULL TG > SITD ST
C) RBHGIULL STG > STTD SIG > UTHISTHSOUCL STG
D) SImMD 16 > UTHISTHGIULL TG > RBIGHIULL STG

E) used asmuaicomen

171.  If we listed all numbers from 100 to 10,000, 3 how many times would the

digit 5 be printed?

A) 3980 B) 3700 C) 3840 D) 378

E) Answer not

known
100 yso 10,000 aomgulconar Gmaiss aans@menud ULRLILLTD, 3 Sossd D absomar
YN NFALIUGLD?

A) 3980 B) 3700 C) 3840 D) 378

E) uded

asiuwaicoame

172. The calendar for the year 2009 will be the same for the year:
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A) 2014 B) 2013 C) 2012 D) 2016

E) Answer not

known

2009 opib OpamphsTar HIGTLR Sbhs OpamphaTar @CT ISHUTS SHHESID:
A) 2014 B) 2013 C) 2012 D) 2016
E) uded

asHuwaicoamed

173. Two liquids A and B are in the ratio 5: 1 in container 1 and 1: 3 in container
2. In what ratio should the contents of the two containers be mixed so as to
obtain a mixture of A and B in the ratio 2:1?

A) 2:3 B) 4:3 C) 3:2 D) 5:2

E) Answer not

known
A wHmnbd B ovdu Srane sSramsdar asmeaisodr 1 @& 5: 1 WHDID ASBTETHEST 2801 3
adim aldssHe 2dtenar. 2 aidssdeo A wHpnd B scomamunt aun Sran® asmerseodisanarn
2 GTNLGBRIBMAT b alBBHHd Bevds CaanGLd: ?

A) 2:3 B) 4:3 C) 3:2 D) 5:2

E) ugev asnueaisoamen

174. A tank has eight pipes, some of which fill the tank and the rest empty the
tank. Each inlet pipe fills the tank in 8 hours while each outlet pipe empties it
in 6 hours. If all the pipes are kept open when the tank is full, it takes 6 hours
to drain the tank. How many pipes are inlet pipes?

A) Two B) Three C) Four D) Five

E) Answer not

known
QM ASTPUID G GLPTUISET D eTeonal, SlDNed Fev ASTLPMW BINYSSIDaT, LDHipeTeraal
AST R ST AFUIBSIDaT. RaIAaIT® Sdraor auinib 8 wanf CBIsHd asmpau Briysns,
PaaaT® Slaram’ auipb 6 ol CEISSe Gms sTa) aFIEDH. ASTLR BrbfueSr
OaSHH GTISMeTD SDHH daSSTR, AsTrpau aAaeGubn 6 wah GHmD Gpeib.
SATAGOL. MULILBEIT 6T HEET @;prmlasa’r?

A) srane B) apaimi C) mrars D) eia

E) U360

asiuwaicoame

175. Find the missing number in the given series following the same pattern:
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15, 20, 32, 62, 118, 248, ?

A) 322 B) 368
C) 428 D) More than one of the
above

E) Answer not known
916 wam@wil Hauhy ASTGSSUILLL ASTLTD aBGULL TaiIanand SarLmuaub:

15, 20, 32, 62, 118, 248 , ?

A) 322 B) 368
C) 428 D) GG DeTAT  PHIWIGS
GLoHULL el

E) ugev azmueaisoamen

176. A shopkeeper offers 10% discount on an item with marked price Rs. 400. If
he charges 10% GST, then the final price of the item is

A) Rs. 400 B) Rs. 396
C) Rs. 380 D) More than one of the
above

E) Answer not known
o saLsstmt @b aurmedar 1Bs 10% sdrepmp anpmigdori. 400. @i 10% efeasivp

g SHBM0, AUTHaTST Smis allaveo

A) . 400 B) &. 396
C) ap. 380 D) GwBew 2dTaT  PIIMIHSH
GLoHULL el

E) ugev asnueaisoamen

177. sLé0 anmafssdod S0 BMRPa®Hs aDDIDS AFUILLAUDD ALTBLSET
. vos, Bsé6s, sbsand
Il uepss, sbsib, wulew
il OdBov, HaIbawd, WHaHl

V. osor, utoa alards, smdmb

SabmieT
A) L, I, 1 i B) ommansznd o
C) SIDASHID SAMI D) L, I, IV sm

E) L asmualcoanso

178. aswsibsdr
l. eraniL aiepgh auDDanT.
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. srdsw Srazs aims auDDeNT
IR Ge3.Ge3. v GUIIYBET erapsSuiant

IV. &bsr svamib aapsuent

Sammieir
A) L LIV & B) L, L, IV &
C) S SHHND Fiil D) DIDISHSHID Haumy

E) alaL asmuialcoaneo

179. omisssmbm: (Ua) SOHASTLT IpGaiT arani inyhHleseid auansar GHlbasiuGa.
SMTE0ID: (asrr) QUGB NBBTHBD MBI UTHST RGOS GSTLIDTLLMTSHET.
A) DDl STIMID STan®GLD Fiflueoeo B) Dyl STTND STan®GLD &
C) (&in) Fl @ (asr[). Fiwdimy D) (&in) sifwa (asrr). &l
E) alaL asmuielsoaneo

180. aunmszmIs:

a. QaLFMOBIS FTDm 1. GuTaTBHID aIbSHID
b. or.BH. Qg1 1wy 2. Sl HsTeameuil LT
C. ASUWIBNH BT 3. ST@TEH LTDT @IHEnL ILILIEDTLD
d. GFTLDEE 4, 2 wHID HFDHMIW HLpaT
@ () () (d

A3 1 4 2

B)3 4 1 2

Qg3 2 4 1

D)3 1 2 4

E) oL asmuialcoanso

181. @rLGsmEsT awdu BIH@BET
. Snnannes GFmpsT 2 eom
Il BHBBUITSL LITE0H
L. BHHBUTOTUI EHTDTD GOT

V. SBOTHHIBIBF BFTpEIOT

Saihmier
A) L, M, IV & B) OaIBHND Fi
C) SiaSHID Fiflicbev D) I, I, IV s
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182.

183.

184.

185.
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E) el asfuaidoamen

ST BDHSH
l. AP SSHIMEMUTS LDBHIMTHS AMbBMET HaYbHBUIRBET
Il OIMLBHOLD BHHBHAGT LTI
. e aGBSBaIT HwaITE LOST@TET

V. daled aFuls asuiand gHimmy

SaibmieT
A) I, IV sm B) OanSsHnd F
C) L, 1, Hl &m D) OIMDSHID Fiifluieoen

E) aloL asfualsoamen

GrmpT ®HTevd FDUD SMOMWH HTLEGID BHmulecvamer
. sHos astam Gsmbsamb
1l SUTTSHTD 2rTanCharant Gasmuied
. snebd wseoTsBIST CHTUND

V. Siyeuand SiyaiGarseuny Gsmuieo

Sammyeir
A) I, I, 1l &m B) SIDIHFHID Fflicbev
C) L 1, IV &m D) OIMDISBHND i

E) alaL asmuielsoaneo

SBMT Bev TSTLUSHI
. ST aiTisaarl LTI Gl
.  eumb pGEID snds
L. Sbaus SHaTUld RbH HIMMD
V. FISSHINILLLD QLNIFHe0

Sammyeir
A) L, I, 1l &m B) 1, L, IV &m
C) ST SHND Fiil D) DDA SHSHID FiluIeoev

E) L asmualcoanso

AUTBHBHIH:
a. AFINNB 1. HSABMAT dpipdh SWIHEH SrGil L1 BGLD

IDILb
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186.

187.

188.

189.
Government Medical Institutions in Tamil Nadu is under the control of
A) Directorate of Medical Education
B) Directorate of Medical and Rural Health Services
C) Tamil Nadu Medical Services Corporation Limited (TNMSC)

D) Directorate of Public Health and Preventive Medicine
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2. QB ATFae PPl GLoanL

c. Caudas 3. BeongpDHmdbsBar Gosd alapidb wap Haoad

S6Lp ABTAIBID FHMby

d. SIbLIERILD 4. STavIDdaTadWsF FODUIBSSID aabHmI

Aeuan

@ () () (d
A4 2 3
B4 1 2
4 1 3
D)4 3 2

E) AL azmuiallcoanso

1
3
2
1

abevaid 2 b BBET 2aff Asmeral CoTaard BFNasTabLD

Sla@Ibd @b UTLRGHT SLID AUDD HTeD

A) urpaniunae B) exiepimim
C) SDIHASTDD D) SNBBHTHTMI
E) alaL asmuielsoaneo

"AB®BHo 2 TaaTTHMEST' I SMaiev SLID aumb 'ABBBD TSTUSST ALTHET

A) BITE6T B) BTEMET LDMIHTET
C) GBOHMI D) Sami
E) alaL asmuielcoaneo

usSaaran SpHHMMBD BHTOSMGT ANDHBHIHIHMND FHMID BHITODANDI TN HMND

A) 11 B) 8
)9 D) 7

E) L asmualcoanso

The function of ensuring the availability of drugs and medical facilities at all
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E) Answer not known
SIOD BILIPD D6l ANDAHH AUTH FSTHIT IDWRISNQILD LDBHHIBET WOHMID LDBHSHIM
Granauset FMLIUMS 2 MIB AFUIUILD DL

A) WBSBHI Heval SuidBHIBLD

B) WHSSHIe SDOHOID STMolYD HSTSTT BFavaIsel SuidbE&bISLD

C) SONPBTG 1DBHSHIe LaNBeT HLPDHID

D) QAUNTE HSISMT WODHID SGY WHSHFHIa SWsHSHBISLD

E) aiL asfualsvaen

190. Name the person who presided over the Nineth conference of the Madras

Constituency of the All India Women’s Conference of the year 1934.

A) Dr. Muthulakshmi Reddy B) Mrs. Margaret Cousins

C) Begum Shareejah Hamid D) Mrs. Annie Besant

Ali

E) Answer not known
19340p1b Opan® Awramen ASTGHUID BALAUDD RSUSTAIZH AUSNBET LIBIGHS HADEOEID
STBIBW Auambaiuial auuaTd STNIGs.

A) LTSLT WpSHBHIAOL G QIR B) BBIDS. IDNTHABIL. HFDIEID

C) Cualb apiesm amulsh Sied D) B®BIDS. SDTDiALFSI

E) alaL asmuielsoaneo

191. The floor of an office building consists of 200 rhombus shaped tiles and each
of its

length of the diagonals are 40 ¢m and 25 c¢m. Find the total cost of polishing the
floor at 45 per sq.m ?

A) 480 B) 470 C) 450 D) 400 E) Answer not known
@ Smeess srLLs somuio 200 sml ssir apailonar @B®eHT UBSFIULG 2 droTar . RBHENT
apmevairL Biseaiar olenayser 40 asdnpbroy wiHmnbd 25 asanp BrLi aefd , ST ABINLLS
FoIm BrLmss 45 disb awnsss asomads sras

A) 480 B) C) D) E) alaL asiueicoamen

192. P can complete your work in 12 days working 8 hours a day. Q Can complete
the same work in 8 days working 10 hours a day. If both p and Q work together,

working 8 hours a day , in how many days can they complete the work?
6

5 5 6 E) A tk
A)5 = B)5 > ()6 = D)éﬁ ) Answer not known

11 11 11
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Sarapb 8 wanl €BmMb Gaimwew asuizy P aduat 9w Gamewau 12 pmeseaid wppésdomi. Q
Sargpb 10 waohl epmb Gamev asuizy 8 wrrsais appsdowmy. P & Q esiba Sarapb 8 waoi

GBI Caimen AFUIBT®D dHSMN BTSN OMbsH Caaevapis APy ?

A) 5 > B) 5 & C) 6 % D) 6 % E) alan asfiuaicoame

11 11

193. 7 is added to certain Number, the sum is multiplied by 5, the product is
divided by 9 and 3 is subtracted from the quotient. The remainder left is 12. The
number is?

A) 60 B) 40 C) 30 D) 20 E) Answer not known
2% SPMILL aangplLar / smrLim'®G ONbd FmBHHO D e AUBGGHIUGEDDHLHSTANT MHBI
AUBHBD Py 9 Oped GGG , Fald SmHH 3 SWssNUGEDSH 1885 12, aald Orbs erabr

W gl ?

A) 60 B) 40 C) 30 D) 20 E) sl apiuaicome

194. For what value of k is the polynomial P (x) = 2x® k x + 3x + 10 exactly
divisible by (x52)
A) 8 B) 10 C) 12 D) 14 E) Answer not known
P(x) =2x3¢ k x + 3x + 10 aém vommprnsestaa (X - 2) opo BRI  a@ssmeo
X @& Bimnu SHTandb.

A) 8 B) 10 C) 12 D) 14 E) alaL asiueicoamen

195. The product of 7p® and (2p?)? is
A) 14 p? B) 28p’ C) 9p’ D) 11p™ E) Answer not known
7p3 wOHID (2p2)2 ST AUBHHDLIGOST
A) 14 p? B) 28p’ C) 9p’ D) 11p™ E) alen apiuaicome

196. Find the smallest number that can be divided by 254 and 508 which leaves
the remainder 4.
A) 512 B) 102 C) 125 D) 520 E) Answer not known
254 woHpnb 508 opdu aansenmed aIGG@ID Cungl BHuTs 4- =5 smID 106FAP aaNaaTs
SHTAND

A)512 B)102 C)125 D) 520 E) efor apmusaicome

197. Find L.C.Mof 22x 33x5x 72, 23x 32x 52 x 74, 2x 3x 53 x 7 x 11
A) 22 x 33 B) 23 x 32 x 52
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C)3x53x7x11 D) 23x 33x 53 x 74 x 11
E) Answer not known
B.A.0 sraws 22X 33x 5 x 72, 23x 32x 52x 74 2x3x53x7x11
A) 22 x 33 B) 23 x 32 x 52
C)3x53x7x11 D) 23x 33x 53 x 74 x 11
E) sl agriuaicome

198. If a some on compound interest becomes three times in four years. Then with
the same interest rate. The some will become 27 times in?
A) 12 years B) 14 years
C) 16 years D) 20 years
E) Answer not known
LB 'y alB5H5B0 WHO® AFUIINUGLD RBH ABTOSWTIIH] BIGISH DbaIBBHeTe0 pSTN)] LDLBIG

aeniFd GIMLBSIWEZI eraico GMCH a'lp AiBSHHo absmaT OpbaBsaico 2/ IWLEGTS aIeNiss

S upbd ?
A) 12 supLID B) 14 aawLib
C) 16 aamL1bd D) 20 aupLID

E) aloL asfualsoamen

199. The population of a town is increasing at the rate of 6% p.a. It was 238765

in the year 2018. Find the population in the year 2016?

A) 212000 B) 212500

C) 212550 D) 211500

E) Answer not known
DB BHIHII WHHATABTMS SpanBHs 0% disd ANBsMNsdN351.2018 Op1b Opan® whHBTABTDS
238765 ons @mbomsi. 2016 opan® wssATASTDBDUIG ST ?

A) 212000 B) 212500

C) 212550 D) 211500

E) alaL asmuielsoaneo

200. The volume of solid hemisphere is 29106 cm3. Another hemisphere whose
volume is two-third of the above is carved out. Find the radius of the new
hemisphere?

A) 21.5 cm B) 12 cm
C) 21 cm D) 23 cm

E) Answer not known
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R BAND ST Cxransdar sar oenay 29106 ag.b.> ApSTHd STINB® UBISH ST SleTQleTar
IHEDTT MIHEEHTND SSBHSHI AFHISHIUGIDTDITD LB ANDTHEHTNHHST ObIpID eTSTaT 7
A) 215 ez B) 12 @z
C) 21 asa D) 23 asab

E) ol asmuialcoaneo
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